Torts Outline

I. Purpose of Tort System

Part One: Physical and Mental Harms

I. Intentional Torts
A. Physical Harms

1. Elements of Battery



(1) Intent to cause contact and substantial certainty that act will cause contact




a. Intent to contact is necessary, no need to intend to cause pain 




b. If the contact causes harm, whether you meant it to or not, you have committed a battery. 



(2)Voluntary act

 

(3) Harmful or offensive contact 

(4) Vosberg v. Putney—Holding: once defendant has committed a battery, he is liable for all harms resulting regardless of whether they were foreseeable or intended. Intent to kick is enough for liability, no need for intent to hurt.

2. Transferred Intent—If A intends to hit B and hits C by mistake, the intent meant for B is transferred to C—since we now have intent and hit, A is liable for battery caused to C. 

B. Defenses

1. Consensual Defense to intentional tort—Consent bars liability

(a) Mohr v. Williams—patient consents to surgery on right ear. While she is under anesthesia, the doctor finds a problem on left and operates on it. 

a. Holding: TC declares this a battery—an unlawful, unnecessary touching. Lack of wrongful intent does not relieve doctor of liability. But damages were minimal because of lack of wrongful intent. Consent covered substantially similar procedures—court felt this was not substantially similar. Defense should have raised the emergency rule, but didn’t (anesthesia is dangerous and he avoided more harm by operating immediately—implied patient’s consent because likely would have consented had she known. 

(b) When an individual gives consent, recovery is barred unless consent was obtained by mistake, fraud, or duress. 
(c) Hudson v. Craft—Plaintiff participates in illegal boxing match and then sues the promoter for because he suffered injuries. Promoter is liable. A law was passed to regulate boxing matches in order to protect the players, because they are not in a position to protect themselves. 
a. Holding: AC reverses TC holding. Plaintiff was barred from consenting by the regulations which meant to protect him from excessively dangerous fighting. Promoter is liable as a principal. 

(d) Implied Consent: Athletic Injuries. Athlete consents to any injuries that naturally happen on the field, as a result of regular play. Does not consent to the breaking of rules. However, the athlete knows that rules will be broken when consents. Recovery will depend on the nature of the injury, and the nature of the infraction. There is a tendancy to avoid tort liability to prevent over regulation of the game. 

2. Non consensual Defenses

(a) Insanity-McGuire v. Almy—Plaintiff (nurse) knew defendant had violent history. In the midst of a tantrum, with threats to do harm and actual violence, nurse goes into room to take a stick away from defendant. She fails and gets hurt. 
a. Holding—Plaintiff did not consent by entering the room—she did not foresee the specific violent behavior. Since patient intended to cause harm, she is liable. 
b. Rule: As long as a person is capable of informing an intent to cause harm, state of mind is irrelevant. Delusion is no defense. 

c. Policy rationale—Allowing recovery when an insane person commits a battery encourage care takers of the insane to be on their guard. 
(b) Self-defense—Courvoisire v. Raymond—Plaintiff slept above his jewelry store and heard someone break in. He gets rid of the men and chases them to the street. The shots attract Raymon (D) who is a sheriff comes to seen and shoot plaintiff (store owner) who tries to approach him? 
a. Issue: Would a reasonable person in Raymond’s situtation think his life was endanger and so be entitled to self-defense defense?
b. Holding: Yes. Raymond was acting in self-defense. Judgment for plaintiff is reversed. Person is justified in using force against someone who reasonably appears to be threatening actor, even if that belief is mistaken. 
c. Rule: Self defense is okay against an immediate threat, belief that one is in danger must be reasonable, force of defense must match force of threat. A response of excessive force is not allowed. 
d. injuries to innocent third parties—Morris v. Platt—If use of force is reasonable, defender who shoots to save his life is not liable to innocent third parties who get hurt in the interim. Innocent victim can sue original assailant in tort—original assailant created an unreasonable risk of harm, and injury to an innocent third paty was foreseeable. 

(c) Defense of property M’Ilvoy v. Cochran—Cochran was tearing down M’s fence. M used reasonable force to protect his property and causes injury to Cochran. Cochran brought action for assault and battery. 
a. Issue—can a landowner protect his land with force, without first asking trespasser to leave? 

b. Holding: Can’t protect property with force, unless trespasser is using force. Must ask trespasser to leave, if trespasser doesn’t you can repel force with reasonable force. If person keeps coming back but doesn’t threaten harm, go to the police!
c. Value of life is higher than value of property-must try to avoid force if you can.
d. Money v. Property—money is fungible, property is not. There is a thin dividing line between personal property (life’s work) and personal identity. Sometimes force will be justified in protecting property that is an esstential part of identity. 
e. Houses—more justification in using force when someone enters your house. But split—is house property, or does entering house constitute a threat to life?
(d) Retreat—Jurisdictions are split as to whether reasonableness requires a retreat in the face of a threat—in an effort to prevent violence. 

(e) Spring guns-Bird v. Holbrook—Holbrook placed a spring gun in garden to prevent theft of flowers. No notice of gun was posted. Bird attempted to recoer a peahen that flew into garden and was severely injured when gun went off (He had knocked and tried to access garden legally first) Bird sues for damages. Def. argues trespasser can not benefit from his own wrongful acts. 
a. Holding: TC and AC find for plaintiff.
b. Rule: Dangerous means used to deter trespassers must be warned about—life is more valuable than property. 

(f) Recapture of Chattels—Kirby v. Foster-Plaintiff works for defendant as his bookkeeper. Def. thought bookkeeper (P) had lost $50 and so docked it from his pay. Later, P is given money to pay employees. He pockets $50, thinking it is rightfully his. Employer (D) thinks he is stealing and tried to recover it with force, injuring the bookkeeper (P) Plaintiff sues/
a. Issue: Can you use force to regain possessions that are no longer in your possession?
b. Holding: Judgment for plaintiff.
c. Rule: Once chattel is no longer in your possession, you cannot use force to recover it. Must resort to legal redress. Conflicting claims should be settled in a court. 

d. Exception: Hot Pursuit—if you think you can immediately recover something, you can take law into your own hands and try to get your item back. (policy: since taker knows he is wrong, won’t fight so hard, in court hard to prove item is yours—one word against another, and might not get recovery, hot pursuit is quicker justice than a court room. (can’t wait a day, month…and then try to recover by force! By that point taker has a more valid claim and liklihood for violence is higher!!!

(g) Necessity-Scope of Privilege--Ploof v. Putnam—Plaintiff is sailing when storm comes up. He tries to dock at D’s dock in order to protect his boat and his family. Defendant unties the boat and sets it adrift. Plaintiff sues for damages. 

a. Holding: When trying to protect your own livelihood or property because of reasonable, immediate danger, you have the right to trespass out of necessity. However, you are still responsible for any damages you might cause. (Preservation of life is more important than preservation of property—def. should not have untied—if damage had been caused he could have sued plaintiff for damages.) 

b. Proof for Necessity: must show that only choice was between harm to self and trespass.
c. Law of Necessity: When valuable property is at risk, or risk of injury exists, necessity defense is applied. 

(h) Law of General Average Contribution (liability for damage) -Vincent v. Lake Erie-Following P’s instruction, defendant moored its boat to Plaintiff’s wharf so that plaintiff’s cargo could be unloaded. During unloading, a storm came up. The storm threw the boat against the dock and caused damage. Plaintiff sues for damages. 
a. Holding: Judgment upheld for plaintiff. (This should have been a contracts case in which case defendant would not be liable because he was acting in service of plaintiff). Here, ship owner was using dock for his own benefit, so must be liable ford damages. 

b. Law of General Average Contribution: One person should not have to bear total cost of defending a group in a case of unforeseen danger. If someone’s property interest must be violated for sake of a group (must throw property overboard to prevent ship from sinking), you treat all property on board as communal property. If ship is worth $50,000 and cargo is worth $50,000, shipowner is liable for %50 of anything thrown overboard in order to protect he ship!
(i) Public v. Private necessity

a. private necessity—compensation awarded. (if you infringe on a person’ property because of your own private necessity.
b. Public necessity-no compensation awarded if you trespass on property in time of war, for public good, etc. 

B. Emotional and Dignitary Harms

1. Elements of Assault--unlawful setting upon, threat to do physical harm

(1) overt act 

(2)  intent to cause a battery or fear of a battery  

(3) victim's apprehension of imminent contact

(4) threat of immediate violence.  




a.  Words cannot constitute an assault



b.  There must be some threatening gesture or carry-outable threat of violence.
(5) Apprehension: I. De S. and Wife .v W. de S.—Defendant is looking for booze. He brings a hatchet to break into tavern. Wife of tavern owner  looks out and defendant swings a hatchet at her. He doesn’t touch her, but she is damaged, emotionally. She sues for recovery and gets it even though she was never touched. 
(6) Intent: Tuberville v. Savage—P puts his hand on his sword and syas that he would not “take such language from you” if it were not assize-time. D strikes him and claims self-defense from assault. 
a. Issue: If an aggressor’s words negate present intent to harm, is a person justified in using force against him anyway? Intent must be present for an assault, and where that intent is negated by words, no assault has taken place. 

b. Holding: No. D’s apprehension was not reasonable where P’s words negated his intent to inflict injury. 
c. Rule: Assault must cause real apprehension, and apprehension must have been caused by the actions of the defendant. 

2. Elements of Offensive Battery

i. volatile act by defendant that causes injury

ii. defendant must have intent to commit offensive touching (offends dignity)
3. Offensive Touching—Alcorn v. Mitchell—At conclusion of a trial, the plaintiff at the trial spit at the defendant after having lost an appeal. Damage was offense to dignity. Man spit upon sued—he was embarrassed in public (context is important.)

a. Issue: can punitive damages be awarded for intentional torts?

b. Holding: Yes. Punitive damages prevent the alternative form of retribution—violence!
4. Elements of False Imprisonment

i. act by defendant to obstruct or detain

ii. obstruction or detention of plaintiff

iii. intent to obstruct or detain

iv. Causal relationship
(a) Bird v. Jones—Restriction insufficient. Public highway is blocked off for a boat race. Bird wants to pass and so climbs over railing. He is told to stay where he is, or pass another way but that he cannot continue forward. He sues for false imprisonment and fails. 

a. Holding: need complete obstruction to sue for false imprisonment. However, walls are not necessary. A situation can be considered false imprisonment. 

b. Slave labor cases—indentured servitude/slavery  to pay off transport debt, can’t leave under threat of injury to self or family. This is false imprisonment. 

(b) Whitaker v. Sanford—Wife is held hostage on a family yacht. False imprisonment exists even thoguh wife can doe whatever she wants when yacht is in harbor. However, she must return to the boat—she is not allowed to remain on land when ship sails. 

a. Holding: This is false imprisonment, but damages are minimal. This lacks the humiliation and disgrace of most FI cases. Court finds it hard to sympathize with poor wealthy wife. 

(c) Shopkeepers: protection of property is more important than freedom of movement. When detention is reasonable and an innocent person is detained, no recovery. As long as there is reasonable suspicion of stealing, shop keeper can reasonably detain. 

(d) Coblyn v. Kennedy’s—old man is grabbed by the arm and detained on suspicion of shoplifting. He is innocent, and suffers a heart attack out of fear. He sues for false imprisonment.

a. Holding: awarded $12,500. AC affirms. Suspicion was not reasonable to use such force and scare the plaintiff like that. 

b. Rule: Exertion of physical power that can only be avoided by submission constitutes false imprisonment. Suspiction muse be reasonable to detain. 

5. Intentional Infliction of Emotional Distress: Extreme and Outrageous Conduct (Rest. 2§46)

(a) Wilkonson v. Downton—Defendant tells woman that her husband has been in a terrible accident and she must go to him immediately. She goes into nervous shock, vomiting etc. It’s all a joke. She sues for emotional distress. 

a. Issue: Is extreme and outrageous conduct actionable?

b. Holding: Yes. She can recover for personal injuries. The action was calculated to cause physical harm to plaintiff, an ordinary person could have suffered like P did, effects of D’s acts were not too remote. 
c. Precedent: This is new. Prior to this emotional distress damages must be rooted in another tort. If emotional distress caused pure economic loss she could recover for that but not for personal injuries caused by distress. (?)
II. Negligence v. Strict Liability—Analytic Foundations
A. Introduction—

We choose SL over negligence whenever the negligence inquiry suffers from evidence problems that makes it hard for plaintiff to show that defendant was negligent (Geistfeld). SL picks up where negligence is too limited by evidentiary problems—with SL no need to show fault. 

B. Last Half of 19th c. 

1. Brown v. Kendall—First case post abolition of writ system where court must decide between negligence and SL. Two dogs fight. Defendant tries to separate them. In the attempt, he hits plaintiff in the eye. Plaintiff sues under trespass on theory that action caused a direct and immediate harm to him. This is distinct from Vosberg (intentional act causing intentional harm-though not extent of harm v. intentional act that causes unintentional harm. 
a) Issue: Does tort of battery encompass a no fault situation?

b) Holding: No liability for inevitable accident. (LL adds that plaintiff may not recover if p and d use ordinary care, p and d both fail to use ordinary care, or p fails to use ordinary care) 

c) Ambiguity—this holding does not declare whether negligence or SL is the rule. Does inevitable accident mean that reasonable care was used?

d) Rule: If act is lawful (unlike kicking in Vosberg) than the mere act of injury is not enough to bring on liability. Need intent. Plaintiff has burden of proof that ordinary care was not used. Unless p shows some fault, there is no recovery. 
e) No room for SL here—need fault for recovery. 

2. Choice of Rule—Neg. v. SL

a) Horwitz thesis of negligence as a subsidy for business is rejected.

b) Geistfeld claims that the choice of rule will affect the cost of an activity. How much we value the activity will determine what rule we apply to it. For abnormally dangerous activities, we want to deter them so we use SL. For valuable activities, we use negligence
3. Fletcher v. Rylands Rule: Strictly liable for escapes from land (English case) (Basis is that activity is uncommon and involves a real risk) 
a) Facts: Defendant makes a reservoir that floods P’s property. There is some indication of negligence on part of contractors, so def. could be held through vicarious liability.

b) TC holding: Though no fault is found, TC awards damages to plaintiff.

c) Holding on  Appeal 1: A person who brings on his land something that will cause harm to another if it escapes doe not have an absolute duty to prevent its escape (rejection of SL rule of TC)

d) Holding on Appeal 2 : But for D’s act, mischief  would not have occurred. If P does not taken upon himself any risk, D is SL for any harm done because of his creation of the risk that water would overflow to neighbor’s land. People have a right to be free from harm of neighbor’s water flow! 

e) Holding on Appeal 3: An owner of land may use it for any purpose for which it might in ordinary course of enjoyment be used. No complaint if water had accumulated naturally. Since landowner (D) altered natural use of land, he does so at the peril of absolute liability for any damages! SL (Blackburn—frequently cited) Martin dissents—liability should be limited to those injuries that are reasonably foreseeable. 

f) Opinions try to justify negligence but in the end they want to make def. pay, so they go for SL. Clearly, constructing reservoirs on private land is not a socially valuable activity that the court wants to encourage! 

g) Later move to negligence will show a desire to limit liability to avoid its crushing nature.
h) Interaction of Tort system and Insurance: Enterprise liability—businesses are in a better position to absorb loss than an individual victim of injury. Use SL and make injury a cost of doing business—pass costs on to consumers. ( strict products liability later. 

4. Two Theories re: SL

a. Reciprocity: SL is appropriate in instances of dangerous behavior because it is non-reciprocal behavior. In general reciprocal risks are balanced out. But abnormally dangerous behavior is not reciprocal so SL is appropriate. 

b. Evidentiary Probs: SL picks up where negligence leaves off. When there are evidentiary problems, best way to ensure safety is to throw the risk on the person who must decide how much care to take. (Holmes—but must limit responsibility to what is reasonably foreseeable so rejects absolute liability but doesn’t choose neg. v. SL)

5. Coase Theorem (Posner): If transaction costs are zero (no impediment to bargaining) , all agreements achieved will be economically efficient. Whenever the benefit is greater than the cost, the activity will occur. Law should choose efficient outcome. (But what about initial allocation? Giving injurer right to create risk or injured right to be free from risk affects the distribution of wealth) 

6. Brown v. Collins Rule (NH) —Only liable in negligence for escapes from land.  America rejects SL, it is bad because it raises the cost of activities and obstructs choice. 

a) Facts: Collin’s (D) horse become frightened and bolts out of control, running into Brown’s land and destroying a post. Brown sues for damages under Fletcher rule that SL exists for escapes.

b) Holding: Since D was not negligent, no liability. SL would inhibit progress because no “non natural” alterations would be allowed (this deters progress!!!) Certain amount of interference with property rights is the price we pay for progress. 

7. Powell v. Fall Rule—Strict Liability is okay for legal, uncommon, abnormally dangerous activities. 

a) Facts: Fall operates a steam engine along a highway. This activity is permitted by statute. Steam engine blew sparks on Powell’s hay rick and burne dit up. Powell sues for damages. 

b) Holding: Plaintiff recovers. There was no legislative intent to bar liability, since D is using a dangerous machine and profiting from it, he should pay for injuires caused. 
8. Early to later: in early days any trespass to land was a SL offense—people have right to be free from intrusion. Later this changes—fault is necessary for recovery. 
C. In Modern Times 

1. Stone v. Bolton

a) Facts: Stone was struck by a cricket ball that escaped over a high fence She sues Bolton and home team members for public nuisance and negligence. 

b) TC Holding: risk was not foreseeable. Judgment for defendants

c) AC Holding: Risk was foreseeable and reasonable care was not used to avoid injury. D breached duty to use reasonable care.. Judgment for plaintiff. (sort of SL). For an insubstantial risk—cost matters. Don’t expect people to go to extraordinary expense to protect against an insubstantial risk. For a substantial risk, must protect at any cost (SL)

2. Bolton v. Stone Appeal #2( Rule: Risk must be substantial in order to apply SL.

a) Holding: Here risk of injury was slight, not large enough to warrant use of more care than was used. No negligence so no recovery. 

3. Hammontree v. Jenner—Rule: Sudden illness cases are governed by negligence. With a disease that is known negligence also governs. It is up to legislature to change it to SL if it wants to.  

a) Facts: Def. is an epileptic who hadn’t had a seizure for 14 years. While driving he had a seizure and injured Hammontree and hubby when drives into bicycle shop. Plaintiffs sue for damages in negligence and SL. T. Judge refuses instruction on SL and jury finds no negligence.

b) AC Holding: affirms TC refusal to instruct about SL.  If legislature wants to make it a SL activity to drive once diagnosed with epiliepsy regardless of reasonable care, fine, but court can’t do that. D took all necessary precautions, no negligence, no recovery for F. 

III. Negligence
A. Elements

1. act or omission of defendant

2. duty owed by defendant to exercise reasonable care

3. breach of duty by defendant

4. actual and proximate cause between defendant’s conduct and the harm to plaintiff 

5. Damages

B. The Reasonable Person Standard—Determines whether defendant acted with reasonable care by determining what a reasonable person would do in the same situation. Following cases help define characteristics of reasonable person. 
1. Objective v. Subjective standards

a. objective standard: external standard, no attention paid to individual’s particular feelings or capabilities
b. subjective standard: defendant’s characteristics own characteristics are examined and determine if a reasonable person with those characteristics would have acted the same way. 
2. Vaughan v. Menlove—Rule: Reasonable person is judged by an objective standard. A person of limited intelligence is held to the reasonable standard of care even if he is incapable of exercising reasonable judgment. (Best judgment immaterial) 

a. Facts: D builds a hay rick on border of property. He is repeatedly told it is bound to catch fire. It does and destroys plainiff’s property next door. P sues for damages. D argues that he was using his best judgment when he ignored warnings.

b. Issue: If a person acts according to his best judgment, though his judgment is not as good as the average person, can he be found negligent. What is the intelligence level of the reasonable person?

c. Holding: Yes. An objective, not a subjective standard is applied. Too hard to determine in every case whether a person acted according to his own subjective judgment.

d. When people go out into the world, expect that others will act reasonably. Too bad if acting reasonably is too much to ask of some people. Then those people will just have to take extra precaution or not do an activity that creates a risk. (negligence based on the objective reasonable person standard is sort of like SL for limited people).
3. Roberts v. Ring( Rule: Standard of Care is not lowered to account for physical infirmities. 
a. Facts: 7 year old boy runs into the street in front of a car driven by 77 year old man. Man hits him. He was driving 4-5 mph but hearing and sight were defective. Defendant claims boy was negligent. Boy claims man was negligent. TC judge instructs based on 

b. Issue: to what standards of care are 77 year old and little boy held?

c. Holding: Old man is held negligent, because he failed to meet the objective standard of reasonable care. Little boy is not held contributorily negligent. Judgment for old man reversed. 

d. Rationale: Objective standard for the old man, because if he can’t meet that standard he shouldn’t be driving—he should be deterred! But little boy should not be deterred from playing little boy games. (In 1919 boys played in the street—defendant knew that.)

Daniels v. Evans(Rule: Kids engaged in adult activities are held to objective standard, not subjective kid standard.

a. Facts: A minor (plaintiff) was riding a motorcycle and collided with plaintiff’s car and was killed. His estate sues in negligence and is awarded damages. Def. appeals saying that child engaged in adult activity should be held to an adult standard of care. Plaintiff was CN.  

b. Holding: Judgment for plaintiff is reversed (indicating CN).  Children engaged in dangerous adult activities are held to the objective standard of reasonable care. A driver when seeing another car or motorcycle will expect objective reasonableness from the approaching driver and will act accordingly—don’t expect a kid to be driving. 

c. Rule for children: when engaged in children’s activities, held to S of Care for children (subjective), when engaged in adult activities, held to adult standard of care (objective). Must determine what kind of activities we want child to engage in, and what we want to deter child from engaging in.
4.  Degrees of Negligence

a. duty of care will change with the amount of risk involved (more risk, more care must be taken to prevent injury)

b. gross negligence or recklessness=conscious and deliberate disregard for a high risk—state of mind between negligence and intention.

5. Breunig v. Family Insurance(Insanity defense only applies when there is an onset of an unforeseeable delusion that blurs understanding (like heart attack, stroke etc.)
a. Facts: Defendant’s insuree has an insane delusion while driving. She drives into plaintiff, thinking that God will set her airborn thus avoiding a collision. Plaintiff sues for damages and wins them. Defendant appeals claiming that woman wasn’t negligent because she there was no evidence that she had known or had warning that she would experience the delusion. 

b. Holding: Judgment for plaintiff affirmed. Since defendant had a history of delusions, the fact that she might suffer such a delusion while driving was foreseeable. She was negligent. 

c. Restatement § 283B—insane person is held to objective standard of care in all repsects except where malice or intent is necessary for a cause of action.

d. CN defense: when a defendant’s insanity prevents a plaintiff from understanding the danger and taking action to prevent injury to himself, defendant cannot assert CN as a defense.  

6. Fletcher v. City of Aberdeen—City must know that people with physical disabilities walk outside in the world, and the world must be safe for them. Municipality must use a higher standard of care to account for the disabled. 
a. Facts: Blind guy falls into a hole caused by city construction after a worker temporarily removed the barricade around it. He sues. City claims that standard of care does not include thinking about blind people. 

b. Holding: Plaintiff recovers. City breached by removing barrier.  Standard of care does include preventing injury to blind people as well as seeing people (even though need to take more precautions). Blind man was acting reasonably in this sistuation. 
c. Rationale: If we hold blind people to the standard of care of seeing people by imposing SL, we are telling them to stay home and not participate in the world. This is bad policy! If a blind person is engaged in an activity (walking) that does not pose unreasonable harm to others, he is held to subjective standard A blind person driving a car is held to standard of seeing person( we don’t want blind people driving cars! Standard of care depends on the activity. 
7. Sexual Harassment Suits( Employer  engages in behavior of a sexual nature that makes work environment oppressive for plaintiff. Court must evaluate conduct. Court will use reasonable woman standard-if employer doesn’t know what will be offensive to a woman, he shouldn’t make the joke. But we don’t want to allow for oversensitivity. If a reasonable woman would be offended, he was negligent. If not, he is fine. 

8. Voluntary Intoxication: Robinson v. Pioche—same facts as Fletcher. Drunk man falls into hole dug in front of D’s store. Plaintiff’s intoxication does not  excuse gross negligence on part of D. Drunk is entitled to safe street too. (Since barricade was required for reasonable care to protect pedestrians, had to protect all pedestrians!) 
C. Calculus of Risk

1. Blyth v. Birmingham Waterworks (1856)( A person is only negligent if behavior fails to meet the standard of reasonable care. He cannot be liable for unforeseen circumstances, or damage due to negligible risks. 
a. Facts: Pipes are laid 25 years earlier. They explode due to extraordinary frost and flood plaintiff’s property. He sues.

b. Holding: Upon installation defendant took care to protect against frost. The risk of such a severe frost was so small that couldn’t expect to take the added precaution to protect against it. Defendant took reasonable care and could not be held liable for accident which occurred due to extraordinary ocurrence.  

2. Eckert v. Long Island RR (1871)(Emergency-Risking life to save another is not CN (though risking to save property would be). 
a. Facts: Eckert’s deceased attempted to rescue a child from the path of a negligent grain. He saved the child but died from injuries. Plaintiff sues for wrongful death. Def. counterclaims under CN. 

b. Issue: In absence of recklessness or rash judgment, can placing yourself in danger to save the life of another at risk from negligence be considered CN?
c. Holding: No. Life is valuable. If not reckless, saving another will not be negligent. There was no time to deliberate—too much was at stake. P’s acts were reasonable. Plaintiff recovers. 
d. Dissent: P chose to assume the risk voluntarily—that is CN and bars recovery. 
e. Caveat: Emergency defense to assumption or risk does not apply where rescuer created the emergency him or herself. 
3. Terry Theory: Reasonableness depends on five factors

a. magnitude of risk

b. value of what is exposed to risk (Eckert’s life)

c. Value of collateral object (child)

d. Utility of risk

e. Necessity of Risk (to save child) 

D. Negligence—Balancing Risks
2. Osborne v. Montgomery (1931) Acts that injure others but are not negligent should not result in liability. Ordinary care is what is required, not more. 

3. Rule for balancing risks: Right to create risk v. right to be free from risk; benefit of driving v. risk to pedestrian. 

a. Cost Benefit analysis is one way to deal with it. If safety matters more than money, how do we balance economic interests against economic interests? 

b. Because people will spend any amount of money to avoid certain risk of death DOES NOT mean that people will spend any amount of money to avoid low risks of death.

c.  An exchange exists between money and risk. People are willing to be compensated for facing risks. 

4. Cooley v. Public Service Co. (1940)( When we have a situation of risk v. risk, we avoid the more immediate, higher risk. Court is limited to evidence before it—can’t argue third options should have been taken if don’t know what third option was. 

a. Facts: Powerline fell on telephone line, burning through it and causing a loud noise which harmed Cooley. She sues. 

b. Holding: AC reverses  jury verdict for plaintiff against telephone company for negligence. Precautionary measures to avoid falling wires would increase the risk to pedestrians on the ground. Maybe companies could have found a different alternative, but since those alternatives were not before the court, the court couldn’t rule on them. 
5. US v. Carroll Towing (1947) Poster case for L and E view of Torts. (But Geistfeld thinks reasonable person standard is better than CBA) ( 

a. Facts:  Barge sinks because of Carroll Towings alleged negligence. P’s employee was not on the barge when it sank (gone for 21 hours) —if he’d been there maybe would have prevented sinking. P sues for recovery and D claims CN. P appeals verdict for plaintiff.

b. Holding: Judgment is affirmed. Employee was negligent for leaving the boat for so long and negligence contributed to loss of barge. 

c. CBA: If B (burden of precaution) <P(probability of injury) X L (resulting injury), barge owner is negligent. Not a large burden to require that Bargee be on boat during working hours, especially when it is foreseeable that things could go wrong in crowded harbor and injury is great. (So B<PL( negligent) (would a reasonable person have recognized the risk and not changed conduct. If so, no negligence. But if reasonable person would have foreseen the risk and acted differently in face of risk, negligence)

d. Caveat: This case is about contributory negligence. Maybe the standard of care we owe ourselves is not the same standard of care we owe others (see below) 

6. Cost Benefit Analysis Criticisms

a. utilitarian—what’s best is what’s best for society as a whole irrespective of individual differences. CBA gives equal weight to interest of self and others.

b. Maybe not a good balancing: If safety matters more than money maybe we should say: (interest of potential injuror)B<(PL)2 (interest of potential victim)

c. No benefit to third person: If Benefit to self is greater than the risk of injury, a person will take it. But does this analysis lend to a third person. That person doesn’t get the benefit so maybe we should take more precaution toward others. 

7. CBA Support

a. if set standard of care too high, no different than SL

b. It approximates behavior of potential injuror—if eliminating risk is too expensive, he won’t do it. (if cost of damages is less than cost of reasonable care, he will pay the damages and avoid reasonable care)

c. Setting standards too high does not necessarily bring more safety. 

d. SEE P. 34 of notes for CBA applied to Eckert, Stone. Eckert [PL (Eckert)<PL (child)}

8. Andrews v. United Airlines—Luggage can fall out of overhead compartments and injure passengers. The government could require United Airlines to put on nets, but even then not all airlines wold nec. But them in. The burden of cost may be too high to accord with the decision. 

E. Custom—What’s customary in the market is generally what is efficient. Relying on custom means relying on market forces, the CB analysis. 

1. Titus v. Bradford (1890)(Old Rule( risk premium  compensates employee tort liability doesn’t have to. If following custom no negligence. 
a. Facts: Titus is a brakeman for Bradford. He was killed while switching a car from one track to another. This was an industry wide practice. Decedent knew the dangers and was willing to accept the risks as part of his employment. Titus’s rep sues in personal injury action. TC finds for plaintiff

b. Issue: Could defendant be negligent if he was acting according to industry custom?

c. Holding: TC is reversed. Judgment for defendant. If acted according to custom, no negligence, even if he knew the danger. Titus knew it also.

d. *****Formula: worker faces two risks: w+[P1L1 +P2L2.](risk premium) He gets paid a higher amount to compensate for the greater risk. If employer adopted safer practice he would have to pay. If B1<P1L1 employer will eliminate the risk. But if B2>P2L2 employer will not eliminate the risk and will pay risk premium. Employer could choose to eliminate the risk and make a safety investment rather than pay the risk premium. EMPLOYERS WILL ONLY TAKE PRECAUTIONS IF THEY COST LESS THAN THE ASSOCIATED RISK PREMIUM!!!!
e. Today: Courts are moving away from this. Imposing a higher standard of care when plaintiff knows danger because allows industry to keep a lower than safe industry standard. Plus, at time accepted job, plaintiff might not have understood the risks. Contracts do not adequately protect workers, and there is unequal bargaining power so tort liability protects workers. 

2. Mayhew v. Sullivan Mining( Negligent custom is no defense. Custom is completely rejected, not even a role for it as evidence,  so this rule is NOT followed. 
a. Facts: Mayhew, an employee at a mine fell into an unguarded, unlighted hole cut inside a platform in the mine. Mining company tried to introduce evidence that industry custom was to have unguarged ladder holes. Court refused to allow evidence. Finding for plaintiff affirmed by AC.

b. Rule: Negligence is negligence regardless of how many people act in such a negligent manner. One does not exercise reasonable care by following an industry custom if that custom is negligent. 

3. TJ Hooper (1931)( Adherence to custom should be a minimum in determining negligence (if do less than custom, certainly negligent) but it should not be a complete defense. 
a. Facts: Tugs were towing barges. They were not equipped with radios. A storm came and sunk the barges. Cargo owners sued barge owners, who sued the tug people for nelgience. There was evidence that had the tugmaster heard a weather report, he would have turned back. 
b. Issue: Was there a duty to supply radios on tugs and was failure to do so negligence?
c. Holding: Yes, AC affirms verdict for plaintiff. While no statutes required radios, 90% of crews were using personal radios at the time and they were not new and untried. Almost universal use of radios on board. Owners had a duty to supply them. AC says that the fact that other tugs had radios was not the final answer however—the answer is that courts must set reasonable care. 
d. Rule: An industry may not set its own test fo reasonable prudence and adherence to a trade custom is not an absolute defense to negligence. 
e. There might be an alternate precaution that is cost efficient but that does not satisfy an employee’s expectation of P1L1 and so employee is not protected (B<E(P1L1) but B >P1L1) 

F. MEDICAL MALPRACTICE Exception to rule that custom is a floor.

1. Lama v. Borras (1994) ( Doctors are held to national standard of care (national custom) and no higher in order to avoid defensive medicine, too much safety. Here custom leads to reasonable care, unlike in the labor market!!! 

a. Facts: Doctor finds that plaintiff has herniated disk. She doesn’t prescribe absolute bed rest. Patient was not subject to standard conservative treatment. There were terrible post surgical complications because adequate pre-operation precautions were not ordered. 

b. Holding: Malpractice finding affirmed by AC. Plaintiff must establish that doctor did not conform to relevant national standard of care (conformance to local standard is not enough). Since defendant did not prove that they did uphold a national standard of care, malpractice affirmed.

c. Policy issue: If  hold people to the national “custom” than local doctors who don’ t have the technology or training to uphold that standard will be deterred from doing procedures. In olden days that  could be a problem—because doctor won’t even try to save a patient if can’t meet national standard. But today, world is smaller. Never too hard to go to a major urban hospital with up to date technology. 

4. Defensive Medicine—Defense of custom in Health care

a. Incentive to provide too much safety: In health care, doctor is in the business to provide safety, so the more safety he provides, the more money he makes and we get inefficient, over treatment. If make doctor’s liable for beyond the customary standard, they will begin to practice defensive medicine which is totally inefficient. 

b. This is not true in labor market—It is not in the interest of a regular employee to provide too much, inefficient safety. Still bound by CB analysis and it is not cost effective to provide too much safety. Incentives to keep costs down lead to too little safety. 

5.  Helling v. Carey (1974 p. 223)—Rejection of standard care. Wrong decision

a. Facts: a woman is not given a glaucoma test because she was under 40. She got glaucoma and sued doctor. Court said doctor was negligent because custom was a floor and she needed a higher standard of care! 

b. Wrong decision, why?: 96% of tests are false positives. To determine if really have Glaucoma, need a more expensive test. 96% of time this will be a waste of money. Since courts didn’t  have this info, they made a wrong decision.
5. Brune v. Belinkoff—National standard is the rule (not true for 19th c. where rural areas had different standards) 

6. Informed Consent: Canterbury v. Spence(Duty to disclose material risks except when patient is unconscious or otherwise cannot consent, or knowing the risk would be too detrimental because patient would make bad choice not to go ahead. (Doctor must provide enough info so that patient can do BPL test on her own!) 
a. Facts: Doctor recommended surgery but didn’t inform patient of the risks. A few days after surgery, when left unattended. patient trips on way to bathroom and is paralyzed, lifelong injury. P sues for negligence and no informed consent.
b. Issue: Does a doctor have a duty to disclose the risks of a proposed treatment?
c. Holding: Summary judgment for defendant reversed. Case remanded to jury to determine reasonableness of doctor’s disclosure.

d. Rule: A risk is material if a reasonable person, in what the doctor knows or should know to be in the patient’s position,  would attach significance to it in deciding whether to forgo the proposed treatment. Full disclosure of every risk is not required. 

Exceptions: if patient is unable of consenting, no duty to disclose (try to check with relative) and if risk disclosure poses such a threat of detriment to patient as to make treatment infeasible (limited!!! But good faith judgment is a defense) Breach of duty to disclose does not itself establish liability—must be cause between breach and patient’s injury. If reasonable person would have declined the treatment had the risk been disclosed, and injury is a result of treatment, then causation is established.

G. Violations of Statutes and Regulations- Statute that determines standard of care makes determining negligence much easier. 

1. Thayer—Public Wrong,  Private Action (follow a statute whenever one applies. Legislature trumps common law takes the determination of negligence out of the hands of the jury. ) If absent a statute a plaintiff can’t prove negligence, the statute creates a new right. 
2. Negligence per se (elements)

i. statute must have a safety purpose

ii. must be directed to a class of people

iii. plainitff must be a member of the class. 

3. Osborne v. McMasters(If breach a statutory duty and the breach proximately causes injury to a person the statute meant to protect, negligence exists. 
a. Facts: Clerk in a drug store gives unlabelled poison to a woman and she dies. Statute declaring that all poison must be labeled was violated. Plaintiff must show that defendant drug store ownerviolated the statute and that the violation is the proximate cause of death. 

b. Holding: Statute created a duty for D to use reasonable care to protect customers from taking wrong drug. He failed. Breach of statutory duty meant to protect customers, P was a customer, breach caused death. Negligent. (Respondeat Superior—vicarious liability for employers over employees. 

4. Teal v. Dupont (p. 247)—(today this case is covered by workman’s comp and would not be dealt with in Torts system) Employee of indep. Contractor can sue for negligence by violation of Statute when  hurt on the job, the owner of the premises is not his official employer.
a. Facts: Plaintiff who works for an independent contractor is injured on the site of the person who hired the contractor. A violation of OSHA (safety regulations to protect employee) leads to injury. He sues for negligence.
b. Issue: Can a plaintiff who is not an employee of owner of plant, but of indep. Contractor sue for violation of OSHA? 

c. Holding: Yes. Intent of OSHA is to protect every worker. Plaintiff is in class of people OSHA meant to protect. Requirement of reasonable care extends to whoever is doing work on an employer’s premises. Judgment for plaintiff. 

5. Fitzwater v. Sunset Empire (p. 247) 

a. Facts: city has a duty to clear sidewalks. Ordinance exists that storeowners should clean in front of their stores in order to help the city. Plaintiff falls on ice in front of defendant’s store and sues defendant.
b. Issue: Can plaintiff sue the storeowner for failure to clear snow?
c. Holding: Court implies no private cause of action against storeowner. Implies duty is city’s alone, and statute did not intend to impose liability on storeowners.
d. Policy: Court does not want to impose such a high burden on store and homeowners. Since court is reluctant to do this, implies that there is no private right of action against homeowners. Statute is silent so court can determine who has duty, if a private right of action exists. (intent of statute is to get help for the city not to allow random people to sue homeowners!) 

6. Causation—Statute requires shipowners to have fences on their ships so that animals don’t get infectious diseases. Storm comes and animals are washed away. If statute hadn’t been violated, animals would not have washed away. But intent of statute was to protect animals from disease. Violation did not cause animals to be washed away, storm did. 

a. BPL—Burden of fence< risk of infectious disease so fence should have been put up. But, nowhere in this analyiss does animals washing overboard come up. However, violation of statute can be used as evidence in broader negligence inquiry. 
7. Private causes of action under Federal Statutes—negligence is a matter of state law. State courts must follow state legislature’s determinations of reasonable care, but federal determinations are not binding. But federal courts must follow federal legislation. 

8. Martin v. Herzog (1920)(Jury must determine if an omission is excused. This case introduces the possibility that an excuse for a violation could preclude a negligence per se ruling. 
a. Facts: P’s deceased was thrown from his wagon and killed when D faled to drive his car on the right side of the highway. Accident happened at night. The wagon had no lights which is a statutory violation. P sues D for negligence for not driving on the right. D was denied jury ins. Requests that lack of lights is prima facie evidence of CN. TC court finds for plaintiff. 

b. Issue: Is the unexcused violation of a statute negligence in and of itself?
c. Holding: AC reverses and Higher Appellate affirms. Unexcused omission of statutory requirement for lighting is negligence, and shows failure of duty to protect public. (If he didn’t know lights were out, no liability, an excuse, tort law would not further a safety goal by imposing liability on him). 
9. Brown v. Shyne(1926) ( Violation of statute is not negligence per se, must show violation caused injury! 

a. Facts: Chiropracter without a license misrepresents himself and treats a woman. She goes paralyzed and sues him for negligence

b. Issue: Is violation of statute negligence per se? 

c. Holding: no. NEED CAUSATION TO PROVE NEG PER SE. Violation is not negligence per se and is not nec. evidence of negligence of her injury. Lack of license doesn’t necessarily mean that you don’t have skill. To prove negligence have to prove he treated her without skill and that his lack of skill caused injury. If you can say that had the D acted with reasonable care that the injury would have occurred anyway, then no negligence. Also, must prove that Legis. Intent—was to protect public from injury from unlicensed doctors—rather it was to protect from unskilled doctors. Lack of license does not nec. Mean lack of skill.

d. Dissent: there was enough evidence to show that lack of reasonable care caused injury. 

10. Ross v. Hartman (1943)( If violation of statute creates a hazard that statute was intended to prevent, the violation is legal cause of harm (negligence shown) and violator is responsible for damages.

a. Facts: D’s agent violated a traffic law by leaving his car parked unattended with keys in ignition. Two  hours later someone stole the car and negligently ran over P. P sues for directed verdict of damages from D. TC verdict for D.

b. Holding: Reversed. Statute was intended to promote safety of streets by protecting from children, thieves and others negligently driving. Violation of statute was negligent and proximate cause (even though the thief who drove was the even more proximate cause). This rule puts the burden of the risk on those who create it, and discourages the hazardous conduct forbidden by statute.

11. Vesely v. Sager (1971)( Decision to make sellers of alcohol liable to third parties was overruled by California legislature. However, this case makes a seller of alcohol liable for foreseeable injuries. (Dramshop Act: Imposes liability on sellers for injuries to third parties) 

a. Facts: Defendant owned bar on top of a mountain. Late at night, he serves alcohol to a man who is obviously getting drunk and it is foreseeable that he must drive down the mountain to get home. On the way, drunk man kills someone. Dead man’s agent sues bar owner.

b. Issue: Does a seller of alcohol owe a duty to a third party who may be injured by people who seller sells to?

c. Holding: TC finds for defendant saying that proximate cause is the drinking, not the sale of liquor. AC reverses and remands for new trial. . Foreseeability becomes the new rule. Since D could foresee the results of the sale of liquor to a drunk man who must drive down a mountain, he is the proximate cause of injury and was negligent for not refusing to sell. Statute prohibits sale of alcohol to a drunk person and imposes a duty to injury to third parties, statute intended to protect public from drunk. ON retrial, P will have to prove he was within class of persons statute meant ot protect, and that injuries suffered were those meant to be prevented. 

d. Policy issue: Foreseeability is very expansive. To what degree should you account for the possibility that someone else will be negligent when you determine your own behavior? This case is rejected because of the difficulty of limiting liability. In this case it seems to make sense to impose liability, but what about less strong cases. This could impose a huge burden on people who serve alcohol in social settings. Do we want people to stop serving at parties?

12. Making negligence inquiry easier: Custom, Statute, Judge and Jury—all of these are attempts to make the negligence inquiry easier to apply, less general, and more predictable. Do these attempts succeed? Negligence inquiry is so context dependent that a case by case determination is the most compelling approach. Rules are hard. Since contextual differences are everything, evolution of common law doesn’t help much. Custom—sometimes helps, statutes—sometimes help, common law—rarely helps! Jury has huge discretion and judge can only take a case away from jury if he can decide that no reasonable jury would decide differently. 

H. Proof of Negligence-- Plaintiff is the party with the initial burden of proof. It must be more likely than not that facts alleged by plaintiff are true given the evidence. Once burden of proof established, def. can give evidence to try to disprove. If reasonable person could go either way, case is given to jury. If not, judge can give directed verdict. 
1. Problems of Proof--if plaintiff doesn’t have the evidence to prove negligence, even if behavior was clearly dangerous, D will get off. This is an argument for imposing SL on dangerous behavior that provides little evidence of neg. What happens when it is the defendant’s word against the plaintiff’s and no witnesses?
a. circumstantial evidence—proof of a fact or group of facts that gives rise to an inference by reasoning that another fact must be true. (This is usually not admissable to prove guilt) 

2. Res Ipsa Loquitur—“the thing stands for itself”— Doctrine allows inference of negligence from circumstantial evidence , without direct proof when: 
a. it is highly probable that the injury would not have occurred in the absence of negligence

b. the indicated source of the negligence is within the scope of duty owed by def. to plaintiff
c. neither the plaintiff nor any third party appears to have contributed to p’s injuries
d. In this case, burden of proof shifts to defendant to prove that he was not negligent!!!
e. Res Ipsa is applicable if:
i. accident is kind that won’t usually occur without negligence

ii. the cause of harm was completely in control of D
iii. plaintiff did not in any way, voluntarily bring about the  harm
iv. If these are established, negligence is established (d has chance to try to disprove)
3. Application of Res Ipsa-Byrne v. Boadle (Eng. 1863) 

a. Facts: Plaintiff is walking on sidewalk in front of D’s store. A barrel is lowered which hits P on the head and injures him. P sues for negligence, but there is no evidence to establish that plaintiff was responsible for barrel.  

b. Holding: Verdict shown for P.  P proved that barrel caused injury and Res Ipsa was used allowing circumstantial evidence to prove that it was more likely than not that D was responsible for the barrel.

c. Explanation: Res Ipsa places burden of proof on defendant to show that he was not negligent when an injury occurs that is more likely than not (51%) to have been caused by negligence. But doctrine does not apply and allow the shift of B of P if the accident which occurred was not more likely than not (less than 51%) to have been caused by negligence. Doctrine only applies if reasonable persons would not disagree that it is 51% likely that injuries point to defendant. (see p. 47 in notes) 

d. Durable v. non durable precautions: Res Ipsa usually applies when we are dealing with (non durable) human precautions not taken. When we  can’t go back to the scene after the fact and examine the evidence and there are no witnesses to tell us about it. If negligence is alleged from a machine, we can go back and look at the machine (durable)  to determine if allegation is true and Res Ipsa is not invoked. Often times, the only direct evidence of negligence is in the defendant’s possession and we don’t expect D to be honest!!!

2. Galbraith v. Busch (1935—p. 284) 

a. facts: Plaintiff is passenger in a car and gets injured. Sued driver of car for negligence. Plaintiff has evidence, he was there, but doesn’t testify to give direct evidence of negligence. Probably because the two guys are friends and they want the insurance co. to pay. If they were strangers, P would testify. 

b. Holding: Inappropriate use of Res Ipsa—they have direct evidence, but aren’t using it.  Can’t invoke RIL.

3. Colmenares Vivas v. Sun Alliance Insurance—Bad application of res ipsa—Wrongly decided!
a. Facts: Plaintiffs are on escalator and is injured when stairs stop but handrail keeps going. The only evidence is the stopping of the escalator and the plaintiff’s injury. No evidence about escalator at time of injury (non durable?) however there is evidence that it was maintiained. Plaintiff sues for negligence and invokes res ipsa.

b. To prove, P must show that in cases of elevators stopping, they are more likely than not to be caused by negligence. But this is not nec. So. Accidents can happen, complicated pieces of machinery can break without negligence.

c. Holding: Court finds for P based on res ipsa. But there was a flaw in rationale—claims that if there is negligence, an accident is more likely than not to happen, and then say since accident happens, must be more likely than not to be caused by neg! But this is bad logic!!!! Since elevator stopping was not more likely than not to have been caused by negligence, can’t apply res ipsa. 
d. Flaw: See notes p. 48. Since courts often make analytic flaw on p. 98 and above, res ipsa doctrine becomes pro plaintiff, but it shouldn’t be. To use Res Ipsa, must show that more than 50% of these types of accidents are due to negligence! 
e. Exclusive possession: this must be shown in order to impose liability under res ipsa. We don’t allow delegation of duties, because of fear of insolvency. If say D delegated duty to worker, and worker can’t pay, P has a right against the worker but no remedy. But to show negligence, must show that defendant had exclusive control of instrument at time risk was created (St. Francis hotel doesn’t have exclusive control over all guests, so if guest throws chair out the window, can’t sue hotel, must sue guest. Since this  did not involve delegation of duty we don’t worry about potential insolvency of hotel guest)

4. Ybarra v. Spangar (1944)-If defendants all work together, can’t expect them to testify against each other. If P is unconscious, can invoke res ipsa—no evidence exists since he ws asleep and d’s won’t be honest. If can treat multiple defs. As a group, can use res ipsa and shift b of p to them!
a. Facts: Plaintiff was injured after a surgical operation. He was unconscious at time of injury and sues a series of defendants involved in procedure of care immediately following. Since P was unconscious, the only direct evidence would come from colleagues reporting on each other. We don’t expect this to happen, so res ipsa is allowed. 

b. Issue: No dispute that injury was more likely caused by negligence than not. But which defendant breached her duty? Hard to link breach to a particular defendant? Can’t sue the hospital, because doctors are indep. Contractors. If try to shift B of P to defendants, won’t get an answer because it is still more costly to point a finger at a coworker than to remain silent. There is no evidence that one particular surgeon was in charge and you could link to him because he delegated a non delegable duty. 

c. Holding: TC says that Lack of ability to link breach with a particular defendant bars recovery!!! AC reverses. Doctors as indep. Contractors doesn’t matter. From point of view of plaintiff, doctors work as a group.  Because patient’s view doctors as a group that’s how courts will see them. Using Res Ipsa, court shifts B of P to group which cannot prove no negligence at all. P recovers from group. . 

d. Where there are multiple defendants—If plantifs can prove that individuals should be treated as a group, then it is much easier to assign liability—just assign BOP to  group and group must prove that negligence was not theirs!

5. Three views  of Res Ipsa

a. Permissible inference—res ipsa allows for a permissable inference, the strength of which determines based on circumstances of the case. Jury can accept or reject the inference (circumstant. Evidence)

b. Presumption of negligence—presumption of negligence is raised and unless defendant can rebut it, court must find negligence as a matter of law.

c. Shifting of burden of proof—If defendant can support his defense, B of P shifts BACK to plaintiff who must then prove negligence. (D must defeat the presumption of negligence and then B of P can shift back)

5. Defense against Res Ipsa

a. offering an alternate explanation for the injury other than D’s negligence

b. showing that such injuries often happen due to no fault—injureis are more likely than not, not due to negligence

c. showing that defendant did not have control of the situation that caused the risk, and that someone else had exclusive control. 

IV. Plaintiff’s conduct
A. Introduction—CN as a bar to recovery gives way to comparative fault. 

B. Contributory Negligence-negligence on part of plaintiff that contributes to the injury and is a legal cause of it. (breach of duty of care to self) BOP on defendant to prove P’s CN. CN is not the doctrine of “avoidable consequences”—failure to act to mitigate damages. CN is not a complete defense in the following circumstances:

i. CN is limited to the particular risk causing injury—P’s negligence w/regard to another risk will not bar recovery for a risk causing injury when P used rc.

ii. Intentional tort

iii. Violation of a statute—in some circumstances

C. Basic Doctrine

1. Butterfield v. Forrester—CN bars recovery

a. Facts: Def. put an obstruction in the road, visible from 100 yards. Plaintiff was driving too fast, didn’t see the obstruction, and was injured. 
b. Holding: Verdict for defendant, affirmed. P’s CN bars recovery. 
2. Beems v. Chicago

a. Facts: Man dies trying to uncouple railroad cars. He tells the engineer to slow down, and then goes to uncouple the cars, assuming that his order will be followed. It wasn’t, the train did not slow down, and the man was killed. P sues in negligence. D claims CN.

b. Holding: Judgment for P. No CN found. P was reasonable to rely on assumption that his order would be followed. 

c. Rationale:  When parties interract in the world, people must make assumptions about each other. It is reasonable to assume that strangers are exercising reasonable care. A wrong assumption does not make a man CN. 

d. CN is unfair—plaintiff doesn’t recover, even if def. caused part of the injury. There is no good reason to bar plaintiff from recovery---
3. Gyerman c. United States Lines—Causation must be established in order for CN to bar recovery—P’s negligence must be a legal cause of the particular injury which occurred. 
a. Facts: Employee hurt when fishmeal sacks he was stacking fell on him. He had been aware that the sacks were negligently stacked, and mentioned to his supervisor who told him nothing could be done, but apparently he didn’t tell the right person that the sacks were dangerous. Gyerman sues.

b. Holding: TC finds for plaintiff, claiming D was negligent for failing to stack safely. But TC bars recovery claiming that P was CN by continuing to work in the face of the risk. P appeals. The record does not show that had P reported the safety violation to the right person, the situation would have changed—so no causation on part of P is established. Case remanded for new trial, limited to determining whether P was CN and whether P’s neg. was the cause of his own injuries. 

4. Determining Legal Cause—Geistfeld’s chart analysis

a. Butterfield—
Dn + Pn( accident (what happened)

Dn +Prc( accident

Drc+Pn( no accident

Drc+Prc( no accident

IF both parties had used rc, no accident. Plaintiff’s conduct affected the outcome, because he didn’t use rc, and def. expected he would, there was an accident.


        b. Gyerman---
Dn +Pn( accident (what act. Happenned)





Dn+Prc( no accident





Drc +Pn( accident





Drc+Prc(no accident

Plaintiff’s conduct had no effect on the outcome. Whether P used rc or not, accident would have happenned, so Gyerman’s CN did not cause the injury

c. Unfairness of CN: Defendant can absolve himself of liability by focusing on P’s negligence. It is reasonable for def. to assume that plaintiff will use rc. In light of assumption, no accident would have happened. Can’t hold def. liable for having wrong assumption. But plaintiff can make exact same argument, that he assumed def. would use rc and can’t be blamed for def. neg. Common law rule focused on rows 1 and 2—where plaintiff’s conduct makes the difference. Common law ignores Plaintiff’s argument( unfair. 

d. Gyerman—when Gyerman took the job, he assumed def. would use rc. Once he realized Def. would use neg. behavior it was too late to quit, can’t blame him for acting in face of risk, couldn’t afford to leave his job. 

e. Statutes—those designed for safe work places are premised on the fact that employees don’t have the info of power to know or bargain for safety—statutes prevent employer;s escape from liability because of CN. (ignores row two because P’s choice is suspect.) 

5. LeRoy Fibre Co. v. Chicago—NO duty to protect property from negligence of another

a. Facts: Plaintiff has stacks of straw placed 70 ft. from railroad. (Statute requires 100 ft.) Spark escapes from def’s train and burns up hay. P sues. Court finds D negligent, but that P was CN so no recovery. P appeals.

b. Issue: Should plaintiff be limited in use of his own property. Does he have a duty to protect it from the negligence of another?
c. Holding: No. TC reversed. The rights of a person in the use of his property cannot be limited by another’s wrong. While the property adjoining the rail road is subject to some risk, it should not be subject to the risks created by negligence on part of rr. 
d. Debate: Can a person be neg. on his own property? Maj. Says no. Holmes says yes, but in this case P was not negligent. 
e. Why CN?: Judges want to avoid juries making decisions about which party is more at fault. So, take it out of their hands, make one party fully liable with a legal rule. But juries rebel—refuse to find CN but give a lower recovery to reflect it. 
6. Derheim v. N. Fiorito Co.-Lack of Seatbelt does not bar recovery as CN. (in Wash)

a. Facts: P was injured in a collision with D’s when D made an illegal left turn. P sued. D claimed CN. TC refused to admit evidence about P’s CN and found for P. Case certified by Wash. Sup. Ct. 
b. Holding: Judgment affirmed for P. The failure to wear a seat belt arises before an accident, so does not contribute to accident, so cannot bar recovery. Unfair to mitigate damags for somone who was completely without fault, especially where there is no statutory duty to wear a seatbelt. Also, not every car has a seat belt, so not fair. 

c. Rationale for holding: Washington bars recovery totally for CN. Since court thought it would be unfair to bar recovery to someone who did not contribute to accident (no fault) refused to allow evidence of no seatbelt. Some states will allow evidence of no seat belt to mitigate damages. But this is inconsistent—lack of seatbelt is CN!!!Just that CN is unfair—when move to CF, no problem to look at seatbelt as evidence of some fault. 
D. Last Clear Chance—Exception to CN, transition to CF. Plaintiff can recover even if CN, if Def. had last clear chance to avoid accident and didn’t take it. (This developed to ameliorate the harsh effects of CN as a complete defense) Doctrine of Clean Hands—if engaged in misconduct, you are not appropriately situated to ask for recovery. This is problematic in light of last clear chance. 

1. Fuller v. Illinois Central RR

a. Facts: Fuller was riding a wagon over a stretch of rr track. His head was down and he didn’t see the oncoming train. The train was late, travelling faster than usual, and though it saw plaintiff, did not slow down. Train gave a whistle 20 sec. Before it hit Fuller. P sues. TC finds for def. P appeals.

b. Holding: Reversed and remanded.  The party with the last clear chance to avoid the accident, regardless of CN of opponent, is solely responsible for it. RC on part of engineer could have avoided the accident.

c. Rationale: Last clear chance is dif. from CN rationale. Here, timing is different. In CN, simultaneous action. P and D both assume the other is using rc. But in Fuller, D knew P wasn’t using reasonable care, so CN argument falls apart and gives rise to last clear chance. (this is more fair than CN, but not nec. more fair than CF)(knocks out row two) 

d. SEE P. 56 in notes for review of causation inquiry!!!! 
e. See Legal Lines p. 60-61 for last clear chance situations
E. Imputed CN—Rule has been reversed from past. Today, a passenger can recover in spite of driver’s CN. 

E. Assumption of Risk—Defense when plaintiff knows defendant is being CN and proceeds in face of risk. Here, plaintiff can not recover (like Last Clear Chance, but this time defense for defendant!) To assert, must show:

a. plaintiff had knowledge of risk

b. plaintiff could have made a well informed choice to avoid the risk but chose, instead, to proceed in the face of it. 

c. Decision on part of plaintiff must be voluntary—if plaintiff makes it clear that there is no alternative but to face the danger, risk is not voluntarily assumed (Lamson???)

1. Lamson v American Axe and Tool(1900)—Assumption of Risk by Employee bars recovery.  (this would be different today. Workman’s comp. Compensates wtihout a negligence inqury)

a. Facts: Plaintiff worked in workshop of Def. where he painted hatchets. Plaintiff knew that the hatchett rack was not safe. Plaintiff complained and was told to use the rack or leave. Plaintiff stays and gets injured. HE sues. 

b. Holding: TC—verdict for Def. Plaintiff assumed the risk. Judgment affirmed. Fear of loss of job was not sufficient to remove the voluntariness of the consent. 

c. Voluntary choice-no choice between two rights here. Lamson did not have right to continued employment, his employment was terminable at will. His choice was considered voluntary. But Gyerman is more fair—focuses on moment accepted job rather than moment recognized negligence. (If renegotiation of salary had taken place at the moment the new risk was discovered, and higher risk premium was offered, this case would be much stronger for assuming Plaintiff assumed the risk!)

d. Risk Premiums: Both Lamson and Gyerman were not compensated (risk premium) for the new risks that came up after they accepted jobs. Since employees are not in best position to negotiate for truly fair risk premiums, and to make fully informed choices, Workman’s Comp and OSHA take that choice away from them. 

2. Choice of lesser evils—Eckert case. IF you have to choose between two evils, this is not a voluntary choice. No one can force you to waive a legal right through tortious conduct (by saving child Eckert could not have been forced to waive his right to recovery for D’s negligence!) 

3. Murphy v. Steeplechase Amusement

a. Facts: Young man goes to Coney Island and watches a ride, the Flopper. He then gets on, fully aware of the intent and consequences of the ride. He gets flopped around, falls and gets injured. He sues for recovery. 
b. Issue: Did Murphy assume the risk by getting on the ride? Did he have adequate knowledge of the risk?
c. Holding: P assumed the risk of falling. He was aware of that risk. Assumption is bar to recovery. IF he had been injured by electrocution (a risk he had not assumed, he could have recovered.) Here, the “fun” of the ride made B>PL. Plaintiff made an informed choice based on this and received his benefit. He can’t also recover. (He had last clear chance to avoid the ride.)
4. Obstetrics and Gynecologists v. Pepper—Adhesion agreements are not necessarily enforceable(consent is not real if it is not a choice! 
a. Facts: P entered O and G in order to get contraceptives. O and G had a policy that all patients have to sign a form agreeing to arbitration should any disputes arise. P signed, but doesn’t remember doing so. P suffered a personal injury after taking contraceptives and sued D. D moved to stay the trial and force the parties to arbitrate the dispute. TC refused to grant motion and D appeals.

b. Issue: Is arbitration agreement binding under these circumstances (when one party must sign in order to get the services of another party?)

c. Holding: No. Judgment affirmed. No evidence that anyone explained the agreement. This was a contract of adhesion (given to a weaker party on a take it or leave it basis) and therefor void. D failed to meet burden of proving the validity of the agreement. Case goes to trial. 

d. Today: Courts will be much more inclined to uphold an arbitration agreement. (arb. Courts are often very pro-defendant, not pro buyer like courts.)
F. Comparative Negligence (Geistfield and minority position---CF is about simultaneous behavior and deals with CN! A of R and LCC are irrelevant because they are sequential!) Comparative Fault allows plaintiff to recover in spite of CN, both are at fault, so apportion the damages. 
1. Li v. Yellow Cab (CA 1992) (CN as a bar to recovery is abolished. Extent of fault determines extent of liability. 

a. Facts: P made a left turn into oncoming traffic without ensuring a safe opening. Yellow Cab’s employee (D) sped through a yellow light and struck P crossing in front of him. P sued for injuries alleging negligence. TC found P CN and barred P from recovery. P appealed.
b. Issue: Should CN which precludes P’s recovery be abolished in favor of CF?
c. Holding: Yes. Liability will be born by those whose negligence caused the injury, in direct proportion to their fault. LCC is abolished and A of R is subsumed by pure CF. The new rule is applicable from here on. 

d. Comment: Pure CF means that plaintiff can recover, even if she is more negligence than defendant. Some states have adopted 50% rule—if p is more than 50% negligent, no recovery. (P’s neg. must be less than D’s)

e. Justification for CF—fairness, not economic efficiency. CF will lead to more suits, and more compensation for Plaintiffs.  An insurance scheme is cheaper, but we need CF to prevent injustice. (Juries perceived unfairness under CN and would find no CN but reduce recovery to reflect CN. Now at least we are honest with our selves. 

2. Bohan v. Ritzo( Comparative Fault under SL. If simultaneous behavior, must apply CF. Fault should cover extent of liability. 

a. Facts: bike rider gets scared of dog, tries to ward it off and gets injured. Statute (?) declares SL for any damage done by a dog. Defense claims that it  only applies to bites. Court says as long as injury and dog are causally related, SL applies. Appeal for CF. But bike rider couldn’t have acted differently, he acted reasonably and was not negligent so no need for CF. 

b. Holding: No CN so no need for CF.

c. Hypo: If plaintiff had provoked the dog, CF would be needed in the interests of fairness. Had plaintiff not provoked, dog wouldn’t have bitten, and there would have been no SL forcing D to pay. 

3. Retention of LCC

a. Incentives—must retain LCC in order to provide the incentive to save. In some cases LCC is more fair than CF. If you see someone in trouble who is CN, you might not save them because you won’t face full liability for damages and it might be cheaper to pay partial liability than to stop and save them. This is a bad incentive. In sequential situations, LCC is more fair!

4. Knight v. Jewitt( Primary Assumption of Risk not affected by CF, stil bars recovery. However, 2ary A or R apportions liability based on fault.  

a. Facts: D injured P in touch football game. P told D not to play rough or she would stop playing. D only remembers being warned to be careful. P sues D after being injured by him (finger amputated). Both move for summary judgment. D claims A of R bars recovery. TC finds for D. 

b. Issue: Has A of R been eliminated in light of CF adopted in Li?

c. Holding: No. Finding for D is affirmed. Primary A of R bars recovery but 2ary does not. What’s going on here about rewarding unreasonable choices????????

d. Primary Assumption of Risk bars recovery—no breach of duty be defendant and so no liability for defendant. CF is not necessary. Flopper case. Plaintiff is aware of risks, consents to the risk prior to exposure to it. This consent absolves defendant of duty to control risk. (Here B>PL because of benefit get from risk)

e. Secondary A of R—Defendant exposes plaintiff to an unreasonable tortious risk but plaintiff proceeds in the face of the risk he is exposed to. This is governed by CF. Here A of R does not totally bar recovery. 

f. CN does not bar recovery for an intentional tort. 

g. What about Doctrine of Avoidable Consequences? Also governed by CF. 

Multiple Defendants: Joint, Several and Vicarious Liability
A. Intro

a. Joint tortfeasors:  are people who either act together to cause an injury or act independently but all cause a single injury. They are jointly and severally liable for damage they cause. IF sue jointly, plaintiff gets a single recovery that is apportioned among the defendants. (This was rare under common law.)

b. Several Liability: Plaintiff must go after each defendant  individually. This also required apportionment, so was rare. 

c. Joint and Several: Three defendants are responsible for injury. But only have to sue one to get full recovery. (Under CL, defendants could sue each other for indemnity, but indemnity was all or nothing). Now under CF, we can apportion damages among defendants, according to their fault. 

B. Joint and Several Liability
1. American Motorcycle v. Superior Court( Joint and Several Liability still applies post Li, but now defendant can sue each other for contribution based on percentage of fault. 

a. Facts: P sues American and Viking when he is injured in a motorcycle race. American cross claims against P’s parents claiming that they contributed to the injury. American wanted P’s damages to be reduced by parents’ negligence. 

b. Issue: Does CF abolish joint and several liability?

c. Holding: No. D may cross claim against P’s parents. One tortfeasor may remain liable for the whole amount. That tortfeasor can recover from others under a theory of equitable indemnity (sue for contribution). Allocation of liability among tortfeasors should be based on percentage of fault. 

d. Advantages of J and S
i. allocates risk of insolvency on defendants that are solvent.

ii. allows a plaintiff not at fault to recover, too bad if an at fault def. has to pay a bit more, at least P doesn’t have to pay.

iii. Allow P to go after either defendant to get a full recovery

e. Differences between J and S and CF: CF deals with allocating liability when there is more than one tortfeasor. J and S addresses who should bear the risk of insolvency when there are multiple tortfeasors.

f. How does Court get around statutes, p. 390: Court plays a word game. Calls something partial indemnity. Says intention is about full recovery for P and doesn’t matter from which D. Also, courts will say that the intention of the statute was to codify the current law, not to prevent the doctrine of contribution from being adopted!

2. Insolvency: If a defendant is insolvent, who takes up his part, D2 or plaintiff?
a. If CF is about defendants only paying there own share, than insolvent portion is divided between P and D(solvent)

b. If J and S addresses insolvency, D(solvent) pays it all. Most courts hold this way!
C. Settlement 
1. Pro Tanto Rule—Encourages Settlement. A party which settles can’t be sued later under J and S by a defendant that gets slapped with the whole settlement. If D1 settles and D2 goes to court, D2 can’t sue D1 later!

2. Claim Reduction Rule—Plaintiff can only sue each defendant for the amount that each is liable for. $100 claim from 2 defs equally negligent—P can only sue for $50 from a defendant. (If D1 settles for $20, and D2 is liable for $50, P only recovers $70). 

3. Equation for Settling: S, settlement; P, strength of suit, chance will win; D, damages, A, attorney’s fees

S(plaintiff) > or =PD-A-( minimum settlement that P will take

S(defendant)< or = PD+A( maximum settlement D will give

If parties evaluate suit the same way, settling is always better. But if each person thinks it has the stronger suit, settlement won’t be achieved. 

D. Vicarious Liability—most common reason for multiple defendants

1. Bushey v. US—Employer is liable for torts of employee that arise out of employment relationship—this is enforcement of indemnity section of employment contract. 

a. Facts: Drunk employee moved a valve and ended up sinking a ship and damaging a dock. Dock owner sues both employer and employee. 
b. Issue: Should we find a party,  in addition to the tortfeasor, liable through vicarious liability? 
c. Holding: VL applies. Gov. forced employee to live on the boat—one of the risks was that he would come back drunk. Returning home after a late night out was part of the job. 
d. Rationale for VL: if employee is liable for a tort related to the job, committed on the job, the liability would crush him and he wouldn’t be able to accept the job. VL is simply enforcing an indemnification contracted to by employer and employee. VL is about ensuring that employee doesn’t bear the consequences of a tort judgment derived from the employment relationship. This is a form of SL, but grows out of a right that would be contracted between any employee and employer. 
e. Motive test Rejected: If employee is acting in interest of employer at time of act, employer can be bound in tort. (Agency law) This is rejected. Rule is broader than this. 
f. Enterprise liability—see injury as a cost of doing business. Okay to hold employer liable for employee’s injury causing action if that action is a part of the regular business activity. (delivery service driver runs someone over when delivering a package—risk is inherent in the business, Enterprise liability would say employer is SL for this injury) (Where does this fit in???)
2. Petrovich v. Share Health Plan of Illinois—When Implied or Apparent authority exists in a business or industry where there are special dangers, liability cannot be delegated and a plaintiff can sue a principal for the negligence of its agent or contractor. (This is an exception to the ordinary rule that a principal cannot be VL for an independent contractor.)  

a. Facts: Plaintiff brings suit against HMO for negligence because doctor failed to diagnose oral cancer in a timely manner. 
b. Issue: Can HMO held liable for negligence of an independent contractor? 

c. Holding: To the patient, doctor looked like an employee of HMO. Patient was not aware that doctor was an independent contractor. Patient can recover from HMO for doctor’s negligence under doctrines of apparent and implied authority.
d. Apparent Authority: applies when principal creates an appearance of a single entity (hospital is principal, looks like doctors work for hospital, so court rules that a patient can sue a hospital for doctor’s negligence). Where a party (hopsital) creates a relationship with contractors where third parties (patients) will assume agency exists between contractor and principal, a court will act as if agency exists and allow suit against the principal.  

e. Implied Authority: An actual agency relationship exists (though it is not contracted) where an agent acts in furtherance of a principal’s interests. 
V. Causation
A. Cause in Fact—a but/for cause. Did defendant’s tortious act cause injury—without act injury would it have been avoided?

i) this is a counterfactual inquiry: What would have happened if defendant had acted reasonably? If the injury would still have happened, than the negligence was not the cause in fact of the injury. 

ii)    must eliminate the unreasonable risk and see what would have happened.

1. New York Central RailRoad v. Grimstad( Negligence is not enough to warrant liability. Must show that negligence was the cause in fact of the injury to recover. 

a. Facts: A tug knocked Grimstad overboard. He couldn’t swim and before his wife could find a line to throw him, he drowned. Wife sues the RR for negligence in not having safety equipment (life vests or a line) on the barge. 

b. Holding: Failure to provide safety devices was not the cause in fact of Grimstad’s death. No evidence that had a life buoy been on board, P would have been able to get it to Grimstad any quicker than she had the line—even had he seized it, there is no evidence that it would have saved him. Because the cause of death was Grimstad’s inability to swim and not the lack of safety devices, TC should have allowed motion to dismiss. 

c. Counterfactual inquiry: Be careful how you phrase the inquiry. Because plaintiff said negligence was not having the devices on the boat, the court assumes that wife would have had to run back to her room to get a device, like she did the line. No difference would have been made. If negligence had been that there was no device on the deck, then wife could have argued that she would have thrown the device immediately and the husband would have been saved. This is harder to prove because D could argue that such devices would have been in the way on the deck. But this must be proved in order to win!
2. Ford( no showing that negligence caused the death. He fell over board, disappeared and drowned. No chance he would have been saved. Case dismissed.
3. Kirincich and Reyes—cases about drowning when no life guard is around. Goes to a jury to determine if lack of life guard led to death. As long as there is some evidence that higher safety would have led to survival, case goes to a jury. Maybe it wouldn’t have been more likely than not that victim would have been saved across the board, but can argue that in this case, victim would have been saved. Semi heroic arguments can sway a jury. 
4. Zuchowitz v. US (p. 439) ( If a negligent act is deemed wrongful because it increased the chances of a mishap occurring, and the mishap occurs, that is deemed proof of neglience as a cause of injury. (Burden of proof shifts to defendant to show action was not the cause) 

a. Facts: Doctor prescribed an overdose of a drug (twice the maximum recommended dosage). She was later diagnosed with PPH, a rare and fatal disease which strains the heart. She sued doctor and pharmacist for negligence in violating prevailing standard of care.  She was on the waiting list for a lung when she became pregnant. She couldn’t get the transplant because of the pregnancy and died one month after giving birth. 

b. Issue: Was the overdose the cause in fact of her getting the disease?

c. Holding: Strong evidence that causation existed shifted the burden of proof to defendant to prove that the OD did not cause the disease and death. Def. failed to defeat the finding of causation. Plaintiff recovers. 

d. Shifting the Burden of Proof: relevant also for cases where cause is unknown and there is conflicting scientific evidence (or testing was not done to satisfaction) 

5. General Electric v. Joiner—>Judge has discretion to determine whether expert testimony should be admitted. 

a. Facts:  P worked as an electrician. Had to stick hands regularly into fluids that contained PCB’s in order to make repairs. PCB’s are widely considered hazardous. He was diagnosed with small cell lung cancer, which plaintiff linked to his exposure to PCBs, furans and dioxins. He had also been a smoker for 8 years, his parents smoked, and there was a history of lung cancer in his family. 
b. Holding: TC found for GE, saying that Joiner’s experts didn’t show a causal link that was more than just mere speculation and that evidence was therefore inadmissible. (Joiner had epidemiological studies that showed correlation but not causation and animal studies) AC reversed, holding that TC had the right to exclude evidence but that case must be remanded for further determination fo dioxins and furins and the admissability of the experts with regard to them. 
c. Policy issues: Some courts only allow epidemiological studies that are very expensive and that plaintiff’s can’t afford to get, so plaintiffs always lose. (Plaintiff’s must show that a chemical exposure doubles the risk of cancer (is more likely than not to be the cause). So what’s a plaintiff to do, and how do we get manufactures to adhere to safer standards? 
d. Implications of Daubert and Zuchowitz: Frye test of general acceptance is rejected (this test said that if a relevant community of experts would generally accept the methodology of plaintiff, court would hear it. This is how animal tests got in.) So now judges decide, and are leaning more towards requiring epid. Proof which is impossible to obtain. Shifting B of P to manufacturers would give them the incentive to do the epid. tests. Manuf. Are the only people that can afford to do them, so the burden shift would lead to a safer society. Geistfeld thinks that administrative regulation is the best option outside of products liability. FDA should require post market testing. 
6. Herskovitz v. Group Health Coop( Recovery is allowed for decreased risk of survival. (damages proportional to reduced risk of survival). This rule is limited to wrongful death actions in certain malpractice situations. (Courts reluctant because this is not traditional tort model) Court allows lower recovery when can’t prove negligence was more likely than not the cause. 
a. Facts: Herskovits went to D for exam. D, due to negligence,  failed to diagnose lung cancer. Had the early diagnosis been made, Hersk.  probably would have had a less than 50% chance of survival. Due to late diagnosis, chance of survival was reduced by 14%. Upon death, P (his estate) sued D for negligence. D argues that Herskovitz would have dies anyway and the negligence wasn’t the cause. TC gave summary judgment to D. P appeals.

b. Issue: Can a patient recover for  the lost opportunity for survival?

c. Holding:  Yes. Reversed and remanded. No longer recovering for death, now recovering for lost chance of survival so “more likely than not standard” is still upheld. It is certainly more likely than not that negligence caused lost chance for survival. (injury was recharacterized) Evidence of 14% reduction should allow the case to go to a jury. Must lose a significant chance of survival to proceed (2% chance reduced to 1% chance is not actionable—though it is a 50% reduction). 

d. Policy rationale: If don’t allow recovery for reduced risk, the medical profession wouldn’t have to give good care to anyone whose chance of survival was less than 50%. 

e. Damages: Had there been no malpractice—39 out of 100 would have lived. With negligent late diagnosis, only 25 out of 100 would have lived. Because of negligence, 14 people would might have lived would die. P should recover 14% of wrongful death damage. 

f. Tort system compensates for injury not risk exposure: If compensate everyone exposed to injury up front, in an equitable amount, the people who actually get sick don’t get full recovery and the people that don’t get sick get money they didn’t need. Also, can’t take individual differences into account (a three year old with leukemia needs much more money than an 85 year old who gets it.) 

g. Incentives: If studies show that your product  has a less than 50% chance of causing injury, you will always win and there are no incentives to make the product safer. Only way that a manufacturer can know what percentage chance the product has of causing injury is if it does epidemiological studies. But since manuf. Knows that plaintiff will never prove more than 50% likely, doesn’t do the studies. 

h. See p. 460 n. 4 for previous exam question!!!!!

B. Return to Joint and Several--Grouping 

1. Kingston v. Chicago and NW Ry.( When two acts are both proximate causes, each torfeasor liable for the full damage. Substantial Factor Test: liability imposed if negligence was a substantial factor in causing the harm. (only apply when but/for breaks down)
a. Facts: The union of two fires destroys the property of Plaintiff. NE fire was started by defendant. NW fire had an unidentified source. P sues for recovery. Both fires were found to be proximate cause of the property damage. TC awards damages to P. D appeals. 
b. Holding: TC affirmed. Any one of  two or more joint tortfeasors whose concurring acts results in injury is individually responsible for the damage. An exception is if D’s fire would have joined a much larger fire, or one resulting from natural causes. D has B of P to show that his fire joined a natural fire. 

c. Rationale: To allow two tortfeasors to argue that the other’s wrong is a defense would allow both to escape and apportionment would be impossible. 

d. Natural causes exception: If D’s fire joined a natural fire, P would not recover. D gets a lucky break. Don’t know if the natural fire was the larger one, causing most of the damage so it would be unfair to hold D liable. 
2. Summers v. Tice(Alternative liability (joint liability) is  imposed when each of two or more defendants is equally as likely to have caused the harm, and don’t know which one actually caused it. P must sue ALL Ds. Each defendant contributes to the damages (each is liable for the whole, but they split the judgment. ) 

a. Facts: P, D1 and D2 go hunting. P goes up on a hill. 2 Ds shoot in P’s direction at the same time, and one of the shots hits the P and injures him. Only one committed the tort, but don’t know which one! (dif. From Kingston) Each D created the same unreasonable risk of harm. 

b. Holding: Alternative liability imposed, both are individually liable but they share the damages. (See Ybarra v. Spangard---only one D was negligent, but all 7 defendants are grouped because they work together.)

c. Rationale for Grouping: When treated as a group, both Ds more likely than not satisfy every element of the tort. Must create a rationale for the grouping. In Tice, both defendants created a tortious risk to the plaintiff. 

3. Hall Case (p. 471) ( Alternative liability allowed even though not all the potential tortfeasors are in the court room as long as more likely than not that actual tortfeasor is in court room. (B of P is on manufacturers to show that they couldn’t have caused the injury) 

C. Market Share Liability—Proportional liability

1. Skipworth v. Lead Industries—attempt to use market share liability to group lead pigment producers together and have them contribute to damages when lead pigment in a house leads to lead poisoning. This fails. Courts have yet to adopt MS liability (factors aren’t right to do it in this case –would lead to distorted liability—lead pigment isn’t fungible, each can of paint posed different risk depending on different factors, can’t just look at gallons of paint and show % of market share. MS doesn’t correlate well to risk created. ) 
2. Sindell Case( Market share theory is appropriate when a substantial share of the market is represented by defendants, the nature of the product delays injury so it is impossible to know who actually caused injury, and good if fungible. Each manuf. Is liable according to its market share. 

a. Facts: DES, a generic drug, causes birth defects. Patient has no idea who manufacturer is because of mass production, but knows the 9 months of pregnancy when took DES. Each and every manufacturer exposed a class of people, of which P is a part, to a risk of harm though only one actually created the risk to Sindell. Logical to group all the possible manufacturers together (like Ds in Tice) (In Skipworth, couldn’t get all the possible tortfeasors in the court, so couldn’t group like Tice or here.) P sues all manufacturers for their portion of risk created, determined by market share. 

b. Holding: Rationale of Summers applies—between an innocent P and negligent Ds, Ds should bear the cost of the injury. (when nature of product delays injury so that don’t know who actual injurer was) It is reasonable to measure the likelihood that a manufacture caused the injury % of total DES out there that is is responsible for (market share). This is only true once it is shown that DES caused the injury! Unless a manufacturer can prove that it definitely did not cause the injury, each manuf. Pays accordintg to market share. P must join enough manufacturers to have substantial share of market represented. 

3. If 51% of market is in court, Summers. V. Tice applies. You can group and make them pay 100% of damages. But it’s not fair to make 51% pay 100%. New theory allows proportional liability( proportion of damage becomes proportion for risk creation—market share theory is one way to determine proportion of risk creation.  

4. Murphy: Holding: Substantial share of market is not satisfied by suing only Squibb, which accounts for only 10% of market. But under proportional liability, you can recover for 10% of damages. It is more likely than not that Squibb was responsible for 10% of the risk creation. Holding was bad—substantial share doesn’t matter under proportional liability. 

5. Review of cause in Fact( see note 1 on 486

D. Proximate Cause—Policy based inquiry precluding liability in spite of but/for causation. Where do we draw the line in a chaise of causation? Proximate cause determined by directness test or foreseeability test. 

Limits on Remoteness—on house for a fire

1. Ryan v. NY Central RR
a. Facts: RR (D)’s engine negligently set fire dot one of D’s sheds, which then spread to nearby houses. P’s house was burned down and he sued D for value of house which was 150 feet from the shed. 

b. Issue: Does D’s liability extend to all the damage of his acts?

c. Holding: No. Nonsuit affirmed. Destruction of P’s home was too remote  a damage, it was not the proximate result of D’s negligence. 

d. Ryan Test: Liability is limited to damage that is reasonably foreseeable from original negligent acts of D. Action is proximate cause of injury if injury is the natural and expected result of the action. (one home only is an arbitrary limit.) 

e. Policy rationale for Ryan test—to limit liability. Didn’t want D’s liability to be crushing. 

f. Early view—natural test, any intervening human conduct is enough to truncate liability. 

Violation of Statute—plaintiff’s violation

2. Berry v. Sugar Notch Borough (this really about cause in fact)( Injury must be caused by the type or risk that mad conduct negligence for cause in fact to be established.
a.  Facts: Borough (D) allowed a chestnut tree to stand near a street car line. P was a motorman for the line and was injured when the tree fell on his car. At time tree fell, P was speeding. D claimed the speeding caused the injury. 

b. Holding: Tree is cause of injury, not the speeding. (violation of statute doesn’t preclude liability, it was not the cause!) Speeding didn’t increase the risk of a  tree falling, so speeding was not cause in fact. 
Intervening cause—if intervening conduct is reasonable. Orig. def is not liable. If criminal, orig def. can be liable. 

3. Brower v. NY Central  RR( For an intervening cause, proximate cause is based on foreseeability. If the intervening cause was foreseeable, def. can be held liable. P must show that negligence created a limited opportunity for a crime to be committed (that there was a particular temptation posed by lack of guard) 

a. Facts: Brower owned a horse and car that was hit by a train, due to train’s negligence. Driver was incapacitated and couldn’t guard the goods, which were stolen. The train’s negligence was the proximate cause of the loss of goods. Detectives on the train did not prevent the theft. P sued for damages that included the amount of the stolen goods. D argues that negligence did not cause stolen goods, rather theft was because of an unforeseeable intervention of a third party. 
b. Holding: Possibility of theft was foreseeable, clear that if train crashes, goods will scatter, and if they are not protected they will be stolen. Presence of train detectives is evidence that theft of unprotected goods was foreseeable. Theft was a foreseeable consequence of negligence and is not too remote a cause to preclude liability. 

c. Dissent: RR is not last  culpable human actor—negligence only provided the opportunity for the crime, but not the cause. Historically, if intervening cause is criminal, no liability for original def.—last culpable human actor. This is bad policy because it allows the RR to avoid thinking about protection against criminal conduct when determining reasonable care. 
4. Wagner v. International RR 
5. In re Polemis and Furness (1921) ( Introduces directness test. Def. is liable for all damages directly resulting from negligence, whether they are foreseeable or not. Injury must be of type risked by tortious conduct. 
a. Facts: During unloading of a ship, a plank was dropped into the hole which caused a spark and an explosion which wrecked the ship. Dropping of plank was negligent but spark and injury were not foreseeable consequences of that negligence. 

b. Holding: Since the injury was caused directly by the negligence, Def. should pay. Lack of foreseeability is irrelevant. If def. hadn’t been negligent, injury wouldn’t have occurred. Someone has to pay so it should be the tortfeasor. (Vosberg says liable for all damages whether their extent was foreseeable or not)

c. Criticism: If risk was unforeseeable, threat of liability wouldn’t have changed the behavior so liability wouldn’t deter. Also, falling plank is not necessarily the cause in fact of the spark, but can’t come up with counterfactual inquiry that would allow for the spark without the falling plank, so court determines cause. But it wasn’t necessarily  the cause. 

d. Duty: directness jurisdictions define duty in terms or foreseeability—proximate cause is what is based on directness!

6. Palsgraf c. LI RR (1928)( Duty owed only to foreseeable plaintiffs
a. Facts: Passenger carrying a packgage tries to get a on a moving train. Guards on the train help the passenger get on. The package falls, an explosion occurs and injures a woman standing on the platform. P sues RR for negligence (in helping passenger to get on.) The negligence directly caused the injury.  Judgment for plaintiff. D appeals. 
b. Holding: Defendant didn’t owe Palsgraf a duty, because she was not a foreseeable plaintiff. D owes a duty of care only to those persons to who the average reasonable person would have foreseen a risk of  harm under the circumstances. No duty to mitigate risk and take precautions regarding a risk that is unknown to you—liability won’t change behavior. 

c. Dissent: directness is what matters. Injury was proximate cause because it was a direct result of the negligence—lack of foreseeability that plaintiff would be injured should  not preclude liability. Why not apply the logic of transferred intent here? (court says TI only okay for intentional torts—too much liability to use it in negligence)
7. Marshall v. Nugent (1955) (tort feasor is liable for all foreseeable consequences of negligence, including those that arise from the situation created by the negligence but caused by another tortfeasor. 

a. Facts: P was a passenger in a car that left the road in order to avoid a collision with a truck negligently operated. P went to warn other drivers that the truck was in the middle of t e road, and was struck by Nugent (D). P sues Nugent (and truck driver). Jury finds for Nugent (and against truck driver). Truck driver appeals. 
b. Holding: Affirmed. The truck driver’s negligence created a situation that put the plaintiff at risk of harm and plaintiff was harmed. A negligent tortfeasor may remain liable for all injuries resulting from situation that occur until the situation is returned to normal. 

c. Criticism: using this test, liability can be justified in any situation!!
8. Overseas Tankship Ltd. v. Morts Dock—WAGON MOUND 1 (1961)( Rejection of Directness test in favor of foreseeability. Damages are limited to foreseeable consequences of a negligent act. 

a. Facts: Oil leaks from a ship and finds its way into a wharf. Wharf owner inquires and learns that oil is not flammable. Goes ahead with fixing boats, oil catches fire during a welding job and destroys the wharf. This is a directness jurisdiction, so directness must be shown for recovery. P sues and wins. D appeals.

b. Holding: Judgment reversed. Court finds that to impose liability, the damages must have been reasonably foreseeable. (Court rejects directness test, but this would have failed it anyway. The damage was not direct-the welding job was the intervening cause in fact of the fire.) Court thinks it is unfair to impose liability on unforeseeable damage, because a reasonable person wouldn’t have considered those consequences when determining behavior. 

c. Comment: a repudiation of directness adopted by Polemis. 

d. Superceding cause—intervening cause that leads to unforeseeable damages. 

9. Union Pump v. Albritton( Direct causes mandate liability whether result is unforeseeable or not. If there is an  intervening cause, defendant will be liable if the damage was foreseeable. Hard rule to apply!!!! 

a. Facts: A pump caught fire in a plant in Texas. Plaintiff and supervisor go to extinguish the fire. After doing so, walked over the pipes and returned over the pipe rack (the more dangerous route). Plaintiff fell and was injured. If make a defective pump, it is not foreseeable that on the way back from fixing the pump, someone will take the more dangerous route, fall, and injure themselves. Unclear if fire was cause of injury, or walking the dangerous route was an intervening cause. It looks like all the forces involved in the situation had come to rest by the time the fall occurred—but in a simple analysis—no pump, no fire, no injury. 
b. Holding: There is no good test for determining what is a direct cause and what an intervening cause. A direct cause causing injury mandates liability. But if an intervening cause causes an injury, it must have been foreseeable in order  to impose liability. This rule is hard to apply(mushy. (?????) 

c. Everything turns on what is fair in a particular set of circumstances. 

E. Directness v. Foreseeability. 

a. Foreseeability test: B<P1L1 +P2L2+…(foreseeable risks) +P3L3 +P4L4 (unforeseeable risks—like Palsgraf plaintiff) Precaution must eliminate risks. Standard of reasonable care focuses on the foreseeable risks because how can you eliminate risks you can’t see????

b. Back to Palsgraf—Holding not inconsistent with directness There was no cause in fact because there was no duty. Palsgraf was an unforeseeable risk so not factored in to BPL.

c. Polemis Revisited: plaintiff was a foreseeable victim, but injury was unforeseeable. This causes a conflict (plaintiff was owed a duty, but injury didn’t factor into BPL analysis.) If unforeseeable injury to a foreseeable plaintiff is caused by negligence, we impose liability!!!! (this is the only case where choice of test matters.) 
E. Other issues

1. Failure to take precaution must create the risk in order to establish cause in fact. 

2. Directness Test: Vosberg Principal, reasonable care is determined by the average plaintiff no the extra sensitive plaintiff. B<PL average +PL high. If an unforeseeable risk is of the same time as would be expected would result from negligence, liability imposed. (???) If question is about extent of damages, liability is imposed even if damages rise to an  unforseeable extent. (IS this still all part of the directness test?) 

3. Direct causes—Vosberg Rule applies. 

4. Polemis characterized risk very broadly (damage to the ship) so the injury that happened was the same kind as the negligence risked. So liability was imposed. 
5. Both tests usually come out the same except for Palsgraf—unforeseeable risk but foreseeable plaintiff!
F. Emotional Distress

1. Mitchell v. Rochester RR (1896)( Old rule, no physical impact/ injury, no recovery.

a. Facts: Lady is waiting to board a street car. As she was about to board, one of D’s horses came running down the street and came so close that she was between two horses heads when they stopped. She was so scared that she miscarried, become unconscious, and suffered a subsequent illness. She sues for recovery. TC holds for plaintiff. D appeals

b. Holding: Reversed and dismissed. Plaintiff can’t recover for fright. Must be immediate personal injury for recovery—fright cannot be the basis for other injuries. Floodgates concern. P’s injuries were too remote, negligence was not the proximate cause of the miscarriage.

c. Implication: This case illustrates the need for a new screening rule for emotional distress claims. Physical impact rule was an attempt to weed out fraudulent claims. New rule must do that as well. 

2. Dillon v. Legg (1968)( Zone of Danger test replaced due to incongruity of daughter’s recovery and not mother’s. Replaced by recovery for physical injury due to mental trauma if injury is foreseeable. 

a. Facts: Mother walks two daughters across the street. Due to Legg’s negligence, his  car runs over and kills one daughter right in front of the mother. P sues for compensation for loss of child, emotional and physical suffering due to shock for self, and daughter. . It is clear the mom is not faking it here. Court looks for a new rule. TC dismisses second cause of action (mental suffering for mom) but goes to jury on mental suffering for daughter because daughter might have been in the zone of danger. P appeals.
b. Old Rule: Person must be within the zone of danger in order to recover for emotional distress damages. Can recover for suffering arising out of immediate fear for own life. This  helps weed out fraudulent claims—but what about if you learn about he death of a loved one over the phone( valid claim but no recovery. Still a broader screening device is needed.  

c. Holding: Judgement for D reversed. Physical injury that results from trauma upon apprehension of harm to another gives rise to a cause of action, if the risk of injury was reasonably foreseeable. Forseeability depends on: a) P’s proximity to the scene of the accident, b) whether P suffered the direct emotional impact of viewing the accident, c) whether P and victim were closely related. P cannot recover if CN is shown. 

d. Problem with rules: rules are arbitrary, apply to a class of cases but can’t apply to each specific case perfectly. Rules will always exclude valid claims-the cases that the court sees are only hteh cases that are most unfair. Temptation to get ride of rules, but as decide on case by case basis, temptation is to draw new rules. Dynamic tension between rules and standards.
e. Emotional distress recovery in absence of physical harm—misdelivery of a death notice and mishandling of a corpse. 
f. New Rule:  Molien v Kaiser allows recovery in absence of physical harm w hen emotional distress is clear and capable of proof. (syphillis case, wife misdiagnosed and it ruins her marriage. She recovers for emotional distress.) 
VI. Affirmative Duties
A. Duty to Rescue
1. Buch v. Amory Manufacturing (1897) (landowner has no legal duty to warn and infant trespasser of patent dangers on his land. 

a. facts: 8 year old boy wandered into Amory’s mill where there was dangerous machinery in operation. Overseer ordered boy to leave, but he didn’t understand English so didn’t obey order. No one else ordered to leav4e. While boy’s brother was teaching him how to use the machine, his hand became entangled and crushed. P sued for damages. TC awarded verdict to P. D appeals.

b. Holding: Reversed. Property owners have no duty to warn, infants or adults and no duty to rescue outside of land or on  his own property. A trespassing infant does not make the property owner his guardian. Attractive nuisance doctrine does not apply to machinery in a factory. 

c. Classic Rescue case: defendant didn’t create the risk, but was in the best position to rescue the plaintiff at low cost to himself. Why is liability not imposed for failure to rescue??? 

2. Ames—Utilitarianism. If the social good is defined as maximizein the sum of individual utilities, every one has a duty to worry about everyone else’s happiness and safety if they can be happier than you. Individual is suppressed. Rescue is a moral mandate under utilitarianism. 
3. Epstein—Libertarian.  Once take away an individual’s freedom not to help, where is the law drawn. Impossible to draw line except before the messiness starts—no duty. Individual autonomy is more important than the social good. Don’t want to enslave people for the good of other people. 
4. Posner—What rule would we agree on if no one in society knew if they would be the rescuer or the victim? For sure duty to rescue. Posner would argue for duty in some situations—concerned about forcing a doctor to cross India to rescue—or forcing Bill Gates to support every homeless person. 
5. Bender—Life is more important than personal autonomy. Unlimited duty to rescue (even the surgeon in India!) ( back to utilitarianism. 
6. We need a limiting rule if we are going to accept the duty to rescue. 
7. Vermont Statutory response: criminal liability imposed for failure to save (fine of $100). (Addresses smoking on the dock while a drowning is going on.) Statute encourages saving when cost is low to defendant (less than $100). 
8. Policy for establishment of Duty: Duty allows for an up front determination of whether defendant or people like him are responsible for controlling their behavior for the benefit of the plaintiff. We don’t want protection of the plaintiff to come at too great a cost for defendant. 
9. Montgomery v. National Convoy and Trucking (1937)( Once D creates a risk by affirmative conduct(feasance)—there is a duty to control the risk. (Buch is an exception because landowners are excused.) 

a. Facts: Truck (D) stalled on highway at the bottom of a hill, blocking the entire road. Vehicles coming down the hill couldn’t see the trucks until they crested the hill, and it was too late slow down. D was not negligent in truck stalling, but negligent in not posting signs. D argues that since risk was not negligent, he had no duty to control it. P suffered injuries when crashed into trucks and sued for damages. TC holds for P. D appeals. 

b. Holding: Affirmed. Negligent for  not providing warnings. Most risks we create are foreseeable byproducts of our conduct. If accept D’s claim, most behavior would be insulated from tort liability. Once we create a risk, we are responsible for controlling it. 
c. Nonfeasance—innocent risk creation, no duty to rescue (truck stalling was nonfeasance) But once create a risk, you are responsible for controlling it. Once you act, you have a duty to foreseeable victims. 

d. Misfeasance—negligent creation of risk, duty to rescue. 

e. If start to rescue, liable for damage resulting from failure. By helping, action may have prevented another person from helping. 

10. Erie—p. 591—RR wasn’t required to post a watchman when a train was coming.. But once had a policy to do so, risk was created by reliance. Erie is liable for the injury caused by the lack of a watchman at the crossing, which people were accustomed to understanding as an invitation to cross. If had never posted a watchman, wouldn’t be liable. But by posting a watchman, people began to rely. Injury was foreseeable.

11. Marsalis v.Lasalle (1957)—Cat that scratched case. Liable for detrimental reliance. 

a. Facts: Plaintiff relied on defendant promise to lock up the cat to observe and see if rabies symptoms manifested themselves. Cat escaped and P had to get treatment for rabies that might not have needed.  If hadn’t relied, would have had the cat checked right away and wouldn’t have had to pay for rabies treatment if cat didn’t have rabies.  

b. Holding: D is liable. If hadn’t promised to lock cat up, wouldn’t have been liable. Cat scratching was not negligence. But once promised (started to help) liable for consequences. 

c. Restatement 2 § 90—Detrimental reliance leads to recovery. D is liable for a promise or gratuitous act if it creates an unreasonable risk. (words alone can create the risk.)

12. Thorne v. Deas (1809) (p. 590) –D told P that D would insure the boat and that P should set sail. P sailed, relying on D’s promise. D didn’t insure and ship was later wrecked. P sued D for the loss. Court denied recovery. Contracts law denied recovery because of lack of consideration for promise. Court held that if no recovery allowed in contract, can’ t turn around and allow recovey in tort. Court also held that if misfeasance could be shown (D had started to perform and stopped) then recovery would be allowed. THIS IS ABOUT FRAUD, NOT NEGLIGENCE!!!!! (D misrepresented himself and induced reliance. No negligence here. D had no duty to insure.) 
G. Special Relationships

1. Restatement 2 § 315

2. Kline v. 1500 Massachusetts Ave. Apt.(1970) ( Landlord has a duty to protect a tenant from criminal attack. When A has a special relationship with B, A  has a duty to protect B from C. 

a. Facts: Kline gets robbed and assaulted in the hallway of her apt. building and suffered personal injuries. She sues landlord for negligence. TC dismissed. P appeals.

b. Holding: General rule that exonerates a third party from protecting another from a criminal attack is not applicable to the landlord/tenant relationship in multiple dwelling homes. Landlord has a duty to tenant that arises out of their special relationship. Since landlord is the only one who can take the necessary acts to insure safety, he is obligated to minimize the risks—in this case risks were foreseeable. 

c. Dissent: no prior occurrence so no forseeability. NOT TRUE. No need for prior occurrence, just reasonable likelihood. 

d. Rationale: Contracts wouldn’t protect the tenant because of unequal bargaining power. Tort duty is necessary to protect the tenant who can’t help herself. Duty is created from the landlord’s superior ability to control the risk, and his special relationship with tenant. 

e. Problem: Burden of increased security might lead to higher rent, tenants out on the street, less safety. Now safety goal is defeated!

3. Tarasoff v. Regents of U California( A has as special relationship with B and learns that B plans to hurt C.  A has a duty to warn C. Special relationship precludes general excuse for third party from liability for a tortfeasor’s actions.  

a. Facts: Patient of D’s told him that he planned to kill Tarasoff (P). D had patient detained by police but he was later released. D’s superior told him not to try to detain anymore. Patient killed Tarasoff. . Her parents sued the university, the therapists, and the police on negligence theories about failure to detain patient and failure to warn Tarasoff. D demurred (objected to claim based on legal insufficiency) and TC sustained demurrer. P appeals. 

b. Holding: Reversed and remanded. Defendant has a duty to all persons foreseeably endangered by the risks created by his conduct (here conduct is failure to detain Poddar). D had a special relationship with tortfeasor so is not excused from general rule that a third party is not liable for actions of a tort feasor. (special relationship with tortfeasor or victim precludes the excuse). Therapist has duty to warn potential victim. 
c. Implication: Forcing therapist to warn might undermine the therapist/client relationship so that patient won’t get the help he needs and could pose more of a danger. This holding might not be good across the board. 

d. This case looks like a duty to rescue because D did not create the risk!!! 

VII. Traditional Strict Liability—See p. 103 of notes for econ analysis of SL and Negligence-intro to grand theory. (TB<TC====B<PL) 

A. Intro—Negligence about taking precautions to ensure safety. SL about deterring behavior in first place but works to encourage precautions when negligence fails to control risks due to evidentiary problems. Negligence can cover almost every aspect of risky behavior. Rest. 3 thinks negligence can cover all risky behavior and SL is about fairness. Geistfeld disagrees, and thinks that sometimes SL can reduce risk more than negligence. Ultrahazardous or Abnormally Dangerous Activities
1. Restatement§ 519 says SL for abnormally dangerous activities, but SL limited to harms of type that make the activity dangerous. 

2. Rest. 2 § 520—factors to be considered in determining whether an activity is abnormally dangerous:

a. existence of high risk of some harm to person, land, or chattel of others

b. likelihood that the harm that results will be great

c. inability to eliminate risk by the exercise of reasonable care

d. extent to which activity is not common

e. inappropriateness of activity to place where it is conducted

f. extent to which value to community is outweighed by dangerous attributes of activity. 

3. Restatement 2 works with Geistefeld’s analysis as follows (p. 105) :

a. If factors a-c are satisfied, P2L2 (victim’s potential cost of injury) is huge, so behavior actor will refrain from the activity if SL is employed.

b. If activity is common, reciprocal risks are involved. TB>TC in spite of a high P2L2. SL won’t deter people from the activity. If activity is common SL doesn’t deter, only inefficiently compensates victims of ongoing activity. BUT if activity is not common and SL is applied, TB<TC of compensation plus regular costs and activity will be deterred.

c. Claims that a different location would be safer are hard to prove under negligence and are appropriate for SL due to evidentiary issues.

d. Social value is a factor against applying SL. Risks to town of factory might be outweighed by the benefit of factory’ s jobs to a town. 

4. Deterrence theory justifies Rest. 2 factors for applying SL. 

5. SL is best understood as picking up where negligence leaves off. Whatever justifies negligence justifies SL. 

6. Critique of Rst. 2- criticized for not providing guidance about when or how to balance the factors. 
7. Rest. 2 § 522---if engaged in abnormally dangerous activity, liable for harms under § 519 even if harm is caused by a) unexpected, innocent, reckless or negligent third person, or b) action of an animal, or c) operation of a force of nature. 

8. Rest 2 §523—assumption of risk of harm bars recovery even in cases of abnormally dangerous (AD) activity. (allowed to assume risk of such dangerous activity) 

9.  Rest. 2 § 524—CN of plaintiff is not a defense to SL for one who engages in AD behavior. But Plaintiff’s CN in knowingly and unreasonablysubjecting self to the risk of harm is a defense (this sounds like A of R) 

10. Rest. 2 § 524 A—No SL for AD behavior. if harm wouldn’t have occurred but for the abnormally sensitive character of the plaintiff’s activity. 

11. Indiana Harbor Belt RR v. American Cyanamid Co. ( Attempt to balance factors of Rstatement 2. 
a. Facts: Defendant loaded a 20,000 gallon rail car  tanker with a highly hazardous chemical. Car was turned over to another company for transport to NJ. Indiana is a small switching line in Chicago which had to switch cargo from one line to another on the way to NJ. Several hours after tanker arrived in P’s yard, employees notices liquid gushing out. P spent $981,000 on decontamination measures and sued D to recovery these damages alleging negligent maintenance of the car and  maintained that transport of the chemical was an AD activity for which D  should be SL. TC held for P on the SL count. D appealed.
b. Holding: Reversed and remanded. Transport of a hazardous chemical by rail is not an abnormally dangerous activity that should result in SL damages against the shipper. Negligence is adequate to deal with this case—no need for SL. Damage was caused by negligence, not by the dangerous characteristics of the chemical. When lack of due care is shown, case for negligence not SL. P should have sued the storer or the transporter, not the shipper for SL. It is the hazards of transporting through populated areas that is the AD activity, not the hazards of producing the dangerous chemical. WHO IS THE SHIPPER (is that the manuf. Cyanimid?) 
c. Geistfeld disagrees with holding: Plaintiff is arguing for SL because SL would encourage the shipper to avoid a heavily populated area. Posner says rerouting isn’t feasible because of hub and spoke system and that existing system is reasonable by law. Who is he to say that? RR is the best party to determine whether rerouting would be appropriate and there is no evidence that rerouting would be out of the question. Social value depends on where material is shipped to—if to an urban area, than the social value of shipping through urban areas is big.  Not a common activity. 
WHAT DOES THIS CASE STAND FOR?????

12. Rest. § 20 A—SL for ground damage caused by aircraft. But airlines rely on hub and spoke system, so why here are we allowed to impose SL in order to get them to fly over unpopulated areas? What is difference between this and Cyanamid? 

13. SL is usually rejected because in theory negligence can reduce risk. It practice it can’t always. Sometimes SL leads to further risk reduction. Rest.  3 gives SL too limited a role. 

VIII. Products Liability
A. Intro—PL is the application of tort principles in a specific setting. Politically controversial—regulates every product transaction and is onerous on business. 

B. Early Cases—relied on implied warranty in contract. People liked the contract system—encourages free market ideas. In early 19th century, needed privity to recover on an implied warranty. Exception to rule arose that privity wasn’t necessary if product was defective an imminently dangerous to life and limb. Exception eventually swallowed the rule. 
1. Winterbottom v. Wright (1842) ( Privity required for recovery on implied warranty.

C. Issues:

a. construction defects( SL

b. Design defects(negligence, the risk utility standard

c. Warning(reasonableness, risk/utility, consumer expectation-negligence
D. Twentieth Century
1. MacPherson v. Buick Motor Co. (1916)( Privity not required between manufacturer and plaintiff in order for Plaintiff to recover from D (manuf.) Negligence is a viable cause of action for any injury caused from a defective product!!!
a. Facts: McP purchases a Buick from a dealer who had purchased it from Buick. While P was driving, a defective wheel collapsed and P was thrown out and injured. Wheel was purchased from a subcontractor. D could have discovered defect on reasonable inspection. D appeals judgment for P

b. Issue: Does P need privity with manufacturer to recover against D (manuf)

c. Holding: No. Defective product is, by nature, imminently dangerous. Exception to privity applies to all defective products because it is foreseeable that a party injured by a product might not be an immediate purchaser. 

d. Policy Rationale: Makes products safer without undue burden on manufacturer. He can pass costs on to consumer. This is better under torts than contract—privity doesn’t make sense in a mass market and a contracts case would have needed five suits to get back to manuf. Here we only have one. 

e. Post McPherson: plaintiffs had to show negligence to get liability for defective product. Hard to know how product was made, but know it doesn’t work well. Plaintiffs relied on Res Ipsa and won.

2. Escola v. Coca Cola Bottling Co. of Fresno (1944) —SL masquerading as Res Ipsa 

a. Facts: P was injured when a Coke bottle exploded in her hand. She sued Coca Cola, relying on res ipsa to establish Coke’s liability for her injuries. She wins. Expert testifies that pressure tests are almost infallible and CC doesn’t do retests except for visible defects. D appeals.

b. Holding: Affirmed. Court applies SL even though it says it is Res Ipsa. Because D had control of bottle at time of negligent act, if P proves that the condition of the bottle hadn’t changed since the time it left CC’s presence and that P used reasonable care, Res Ipsa can be applied. P must also show  that accident wouldn’t have occurred without negligence.

c. Critique of holding: No matter how much care is used, some bottles will have too much gas. Explosion may not have been more likely than not  due to negligence. Res Ipsa shouldn’t apply. 

d. Desirability of SL (which is what is happening here really)-cost of injury is internalized to price of product. Manuf has incentive to make product safer. B1<P1L1 but B2>P2L2 so need SL in order to take B2. 

3. Consumer Preferences lead to efficient allocation of Safety: 
a. consumer absorbs cost of potential injury by paying P +P1L1+P2L2. For consumer, the purchase price is less than the full price. If B1<P1L1, by investing in B1 full price goes down! Price might be higher in the store, but B1L1 is removed, so full price is lower. 

b. When B2>P2L2 manufacturer will not make the safety investment because it will raise the full price. Cutting out P2L2 and adding B2 (which is greater) raises the full price. 
c. Efficiency corresponds to consumer preferences. (consumers benefit from and pay for safety so they will desire what is efficient. ???) 
4. The Modern Market—the need for SL in products liability. 

a. Consumers are powerless because they don’t have full information about risks.

b. As long as consumers don’t see a benefit to the safety investment, they won’ t pay for it, so manufacturers undersupply safety due to consumer lack of info. 
c. SL takes the decision to invest in safety away from ignorant consumers and forces it upon manufacturers who are most knowledgeable about the risks. Manuf. must supply safety and consumers must pay for it. 
d. Under SL, store price is full price. P+ B(cost effective precaution taken) +P2L2 (insurance premium against risk of injury because precaution was too expensive to take) WHAT YOU SEE IS WHAT YOU GET. (this is enterprise liability—an insurance mechanism desirable in a world where other mechanisms aren’t available)

e. SL takes choice away from consumers re: safety. Tension between desire for safety and desire to protect freedom of choice. 

5. McCabe c. LK Liggett Drug. Co. ( Why does this case explain why products liability comes under tort rather than contract? (G’s claim) Requirement of Merchantability is based on SL—fault no longer matters. 
a. Facts: P sends someone to buy a coffee maker from Ligget. P used according to directions and it exploded, burning him. P sued, saying product wasn’t fit for use (contracts?). TC sets aside verdict for P and enters verdict for D. P appeals.

b. Holding: verdict for P reinstated. To be of merchantable quality, product must be reasonably suited for ordinary purposes for which the good is sold (must make coffee without injuring people) Merchantability is a question of fact for jury. Merchantibility is based on SL. Fault doesn’t matter—if a product is not of merchantable quality P can recover for injury caused by it. 

c. Privity doesn’t matter because other users are foreseeable (Henningsen) This foreseeability is a torts concept. These cases use tort principles whether called contract or not. But torts allows recovery for emotional distress, contracts only awards expectancy! 

d. Products Liability is a good area for SL: product is abnormally dangerous. (must be dangerous beyond ordinary contemplation) Lack of consume info about the risks leads to under supply of safety so a good candidate for SL. 

E. The Restatements

1. Rest. 2 § 402A—Original Rule and Law Today: A manufacturer is SL if a product defect causes physical injury or property damage. Prior to Rest. 3, a product is defective if it doesn’t meet its intended use (this is limited) 

2. Evolution of Defective: product is defective if it isn’t as safe as consumer expects it to be (Ford Pinto blows up when hit from the rear at 7mph causing bad burns—this is defective) 

3. Design defects? Original 402A doesn’t cover this-some design defects will cause risk no matter how much care is taken with them. Customers must know about residual risks or else Manuf. will be liable for them. 

4. Defects under Rest. 3—Rest. 2 is still the law. 3 has yet to be accepted. 

a. Rest. 3 of Products Liability § 1—Commercial Manuf or seller is liable for harm to person or property caused by product defect. 

b. Rest. 3 of Products Liability § 2—product is defective if at time of sale or distribution it has a product defect (departs from intended use) , is defective in design (reasonable alternative design would have reduced foreseeable risk of harm) , or has inadequate instruction or warning (reasonable warning would have reduced risk of harm. 

5. Expansion of Products Liability into the 60s, 70s, and 80s

a. Restatement 2’s tort rule to deal with PL expanded in unforeseen ways.

b. Rest. 3 has a whole volume on PL. 
c. By 1980s, higher I rates, OPEC, high inflation, high insurance premiums, and suits against manufacturer has businesses clamoring for tort reform. They claim system is out of control and tort liability is an additional tax. Much reform took place applying to PL and Med Mal

d. Federal laws that limit tort liability make tort law a federal issue for the first time. 

e. Today we know tort system is an inefficient insurer. But we know more tort liability means safer products. Once safety mechanism diminished because of insurance coverage for manufacturers, tort law will start contracting (already has).(???)  Free market is a good mechanism and we have other forms of insurance. 

6. The Theory of Products Liability: Tort or Contract?

a) Casa Clara Condominiums v. Charley Toppino

1. Facts: D supplies defective concrete to be used in construction of homes. Numerous homeowners sue D for breach of implied warranty, PL, negligence and building code violations. TC dismisses all complaints. On appeal, DC applies the economic loss rule and holds that because there was no personal injury or property damage and since D had no duty to comply with building code, there can be no recovery. 
2. Issue: Can homeowners recover for pure economic loss under a negligence theory? 

3. Holding:  No. DC affirmed. Contract law protects expectancy and compensates for economic loss. Contracts law is best for economic loss because you can bargain for extra protection-warranties, to ensure that products will work. If torts law allowed recovery for pure economic loss, manufacturers wouldn’t know how to price their products. Low level of loss would have to pay same price as high level of loss (defective widget costs lost profits of 100 million or defective widget leads to uglier bike that must sell for less.) Better to let person with the high risk of major losses bargain with manufacturer to ensure no defects (this way avoid bad distribution and higher prices for people with little to lose) Customer knows best what working product is worth and can cover for it. 
4. No SL for services because you can bargain in an employment contract. Tort system doesn’t have to protect and unconscionability protects as well. 

7. Four Factors to determine if SPL applies. If not, looks like a service is at issue.(???)

8. Retailers: Courts don’t like imposing SL on small retailors—given modern distribution, doesn’t lead to increased safety. Courts will often call retailers, service providers in order to get around imposing SL. Retailers can still be held for general tort liability. Pharmacies depend on sales, but CA says a pharmacy provides services. Court avoids applying 402A—generally uncomfortable with holding retailers SL for manuf. dEfects. 

F. Proper Defendants under § 402A

1. Cafazzo v. Central Medical Health Services 

a) Facts: Doctor implanted defective device in patient. He sues doctor and hospital under SL for product defects.
b) Issue: Can a hospital or doctor be liable for defects in a product incidental to provision of medical services?
c) Holding: No. Doctor can’t be held strictly liable, even if it can be shown that they had marketed the product. Medical services ae different from retial marketing enterprises at which 402a is directed.
d) Test to see whether a service provider could be a supplier:

1) which members of marketing chain are available for redress

2) will imposition of liability lead to greater safety

3) is the supplier in a better position than the consumer to prevent the circulation of defective produces

4) can supplier internalize cost of injuries in the price
G. Construction Defects(SL

1. Test for defect

a) look at manufacturer’s own design specifications, if product doesn’t measure up, it’s defective

b) flaws in manuf. process can cause

c) imperfection in quality control process

d) Look at 402A if produce is not in condition contemplated by ultimate user
2. Why SL in Construction defects?-- Implied Warranty in contracts doesn’t ask about rc, just asks if product is fit for use. This is probably best explanation for why SL in tort should apply to construction defects.
3. SL implies that consumers expect perfection. If there is some risk, product has failed to satisfy consumer expectations.
4. Lack of evidence sometimes make defect hard to prove—we can use circumstantial evidence if it is more likely than not that injury was due to defect. (like Res Ipsa) 

5. Products liability is wiping out light aircraft injury—didn’t factor SPL tort claims into prices. Liability is killing profits. Statute of Repose passed—no action can be filed ater a certain number of years. First tme Fed. gov has cut off state law across the board. 

6. Pouncey v. Ford Motor Co.(1972)(problem conflicting evidence re: negligence. Just call a spade a spade and admit courts and juries want SL. 

a) Facts: P was injured when fan blade on his car engine broke loose and struck him. P’s experts testify that metal was defective. D’s experts say it was not defective. D appeals from verdict for P. Case was under Alabama law which is governed by negligence. Always some risk involved—no quality control method is fool proof. This case illustrates that under negligence, defendant could show evidence proving reasonable care showing not negligent. Either the court or the jury will ignore the lack of SL, so might as well just call it SL—which is what everyone wants. 

b) Holding: There was enough evidence for jury to find D negligent. 

H. Design Defects—Risk/Utility( negligence not SL!

1. Vokswagon v. Young (1974)(Car manufacturers can foresee that cars might be in accidents and must prevent unreasonable risk from crashes. Manuf. are responsible for preventing unreasonable risk in uses of product that are reasonably foreseeable. 
a. Facts: Car was in a routine accident—hit from behind by negligent driver. P’s seat broke loose and P was thrown into the rear and he was killed. P sues alleging a defective design, manufacturing and marketing with defects which make it structurally hazardous. D should have foreseen the problem. 

b. Issue: Does the intended use of a car include accidents?

c. Holding: Verdict for P. A car manuf. can easily foresee that cars may be involved in crashed. Larsen v. Gen. Motors held that manuf have a duty to use reasonable care to insure that a driver is not exposed to an unreasonable risk of injury in the event of a crash. Manuf. is liable for design defect that could have been reasonably foreseen to cause or enhance injuries in a crash—that is not obvious to the user—and that leads to such injuries. TC may use factors such as convenience, design, economy, and utility in determining if a product is reasonably safe. This holding does not make car manuf. an insurer or obligate him to make injury proof cars.
d. Injuries caused or enhanced by defective design: Since it’s too hard to show how much of the injury was caused by the design, we join all the causes of the injury and make manuf. pay. Defendant can introduce evidence to reduce damages—B of P is shifted. 
2. Test for Reasonable Design

a. Must balance cost and risk. Since reasonableness is a factor, can’t impose SL Also, SL won’t lead to significantly more risk reduction (?)
3. Foreseeable misuse: Must a manufacturer design product keeping foreseeable misuse in mind (tires that withstand 100 mph when 55 is speed limit?) If misuse is foreseeable, must warn!!!!

I.  Open and Obvious Dangers

1. Linegar v. Armour of America (1990)( To recover for defective design, must show that product was dangerous beyond expectation of ordinary customer. –Consumer Expectation test. 
a. Facts: Police man was killed when wearing his bullet proof vest made by D. The only bullet that killed him entered his body in a place that vest did cover. P sued for negligent design. TC found for P. D appeals. 
b. Holding: Reversed. Court said vest was not designed to protect in that area. P knew it didn’t cover there, and chose to use it anyway. He could have worn a vest with more coverage. Choice was well informed. There was a benefit of mobility for the less coverage afforded by the design. P would have had to shown that the vest was more dangerous than expected by ordinary consumer.—but it wasn’t. This court rejects patent danger rule “No recovery if danger inherent in design was obvious and patent to the user.”  This rule is problematic—invites manuf. to make obvious defects. 402a protects consumer from making ignorant choices. 
2. Barker v. Lull (1978)(Introduces Risk Utility Test-If B<PL manuf. will make an alternative design. If utility is less than risk imposed by it, the product is defectively designed.

a. Facts:  Barker (P) was operating a  high lift loader on uneven terrain. Loader turned over and injured P. He alleged defective design. TC holds for D. P appeals. 

b. Issue: Was the proper standard for design defects applied in this case?

c. Holding: No. Judgment reversed. Sl does not apply in design defect cases. Standard in design is same as manufacturing defects. Jury must consider gravity of danger, likrlihood that danger will occur, feasibility of safer design, cost to make safer, and adverse consequences of changing the design—BPL! 
d. Risk Utility Test:  Barker says consumer expectation is a floor for liability—of course if produce doesn’t meet inadequate expectations it is definitely defective. But manuf has a greater duty—leaving everything to consumer expectation doesn’t  provide enough safety.  If utility of current design is less than risk imposed by it, it is defective. Originally B of P was  on manuf. to show that no alternative design was better. This was swithed back to P—just like in most negligence cases. Design and warning defects are governed by negligence standard. 

e. Today: Risk Utility test determines liability. B of P on plaintiff to show safer design that made current design fail risk/utility test. 

3. At what time do we determine knowledge of the risk? At time of sale or trial? (asbestos cases—when installed ceilings, didn’t know asbestos was dangerous. Unfair to hold liable.) 
a. Current Rule: Manuf. is held to the level of knowledge of experts at the time of sale.

4. Categorical Liability—Should courts impose SL on an entire product line? Hotly contested. Some product lines should not be on the market because unreasonably dangerous. SL would get them off the market. Categorical liability is practiced extremely narrowly, rarely. 
5. Potter v. Chicago Pneumatic Tools (1997) –Sometimes plaintiff can’t prove alternative design, undue burden on plaintiff. Introduces new, Risk Utility balance to consumer expectation test. P can introduce alternative design as evidence of failure of risk utility B<PL. 

a. Facts: P used a tool for years which exposed him to high levels of vibration that led to injury. P sues under defective design because exposed him to excessive levels of vibration. 

b. Holding: feasible alternative design requirements impose an undue burden on the plaintiff htat might preclude otherwise valid claims. Continue to hold that defectiveness is to be determined by the expectations of an ordinary consumer, yet there may be instances where complex designs make it imposible for an ordinary consumer to make expectations about safety. Accordingly, CE test would establish the product’s risk and utility and then an inquiry would consist of whether a reasonable consumer would consider the product design unreasonably dangerous. 
c. Factors for modified consumer/utility test: 

usefulness of product,  likelihood and severity of danger posed, feasibility of alternative design, cost of improved design, ability to reduce danger without impairing usefulness or making it too expensive, feasibility of spreading cost to consumer. Plaintiff can use reasonable alternative design as evidence tht risks outweigh utility. P doesn’t have to show this!

d. Consumer is led to applying BPL analysis. 

e. Restatement 3 goes to far—throws consumer expectations out the window. BPL cannot be presented to a jury—need consumer expectations for that. Must get jury into the head of the consumer—that is CE test.  

J. The Duty to Warn

1. Macdonald v. Ortho (1985) (Learned Intermediary Rule usually applies—warning the doctor would be enough, but w/ BCPs must warn actual consumer because of the lack of much interaction and the extent of consumer involvement in choice. 

a. Facts: Plaintiff was on birth control pills. Warnings did not explicitly mention stroke. She took pills for three years and then had a stroke. P sues D for failure to adequately warn. D argues for Learned Intermediary Rule—by warning physician he fulfilled his duty. Jury found for P. TC overrules(?-what is d.o.v?) P appeals 
b. Issue: Does Manuf have duty to warn actual consumer when there is a learned intermediary that has a duty to warn? 

c. Holding: Yes. Reversed—finding for P. Ordinarily duty is met by warning doctor, but birth control pills are different. They create a high risk of injury and patient only goes 1x a year for consultation—so manuf must warn user. Also, consumer is very involved in making choice and there are many options to choose from. Warning was inadequate because it didn’t mention stroke. 

d. Why not go after doctor? 

1) doctor could argue risk was so minimal it wouldn’t have changed decision. (objective test—would average consumer have changed choice?) Doctor has discretion not to disclose

2) Informed consent-screens out many patients because of objective test(???)

3) Doctor patient conversation must be reconstructed for jury—nothing was written down. 

4) Easier to go after manuf. warning which is general. Doctor’s warning can be tailored to patient

e. Requirements for Adequate warning

1) Must warn about material risks—P2L2 must be big enough to be  factored into decision. (P2L2=residual risk—unavoidable injury for optimal product) Consumer is liable for this risk under negligence. 

2) Warning must be targeted to ordinary consumer (must capture foreseeable use and misuse)

3) Disclosure must be of information that consumer doesn’t already know. And Warning must be properly formatted

2. Material Risks

a. P2L2 is material if it is big enough for consumer to factor it into decision( Price+P2L2=cost to consumer. If P2L2 makes cost too high, consumer might have changed mind and P2L2 is a material risk. 

b. Assume average person doesn’t know about special vulnarabilities—allergies. 10 to 15% of people suffer allergies. Assume average consumer doesn’t know if has the allergy, so 15% risk that every consumer will suffer the allergic reaction. If 30% of pop. Has allergy, assume 30% doesn’t know and every person has 30% chance of reaction. THIS IS MATERIAL. 

c. Problem: Materiality is always a jury question. Because everyone can argue that a warning is not particular enough, and because of jury issue, manufactureres design warnings for juries and not necessarily for average consumers. This is a problem—over warning and information overload might lead to ignoring warning. 

3. Heeding Presumption v. Objective Standard: Courts assume that consumer would have heeded a proper warning. This is not necessarily true. But G. thinks this is better than Objective Standard which leads to under warning—ONLY HUGE Risks get warned about (not allergies because average person wouldn’t be deterred) Risk must be severe enough to drive the product from the market, if not, not disclosed. Also, OS leads to know recovery for non-average consumer. 5% increase in price (because of P2L2) would make some but not most people change their mind—but these people don’t get compensated under OS. 

4. Jury Instructions as alternative to heeding presumption—focus on how emphasizing one risk de-emphasizes another, warnings that are too long don’ t get read, some don’t read at all. Must focus on costs of warning—that some won’t read if too long etc. 

5. Vassalo v. Baxter( Rejects the Hindsight Test (if know risk at time of trial, courts impose liability to warn even if didn’t know at time of sale)  because SL would lead to too much liability. Dumb reason! G. thinks SL is appropriate here because it would lead to better testing and safer world! 

a. Facts: Woman has silicon breast implants. One ruptures. If plaintiff had known the risk, she wouldn’t have done the surgery. Mass (relies on hindsight test so if know at time of trial that’s enough) and uses implied warranty theory and not 402A.)  But court says these are the same and uses negligence. Manuf. didn’t know the risk of rupture at the time of sale. 

b. Issue: In determining risks that could be disclosed, what standards of knowledge should we hold manufacturers to? 

c. Holding: goal of Tort law is to induce conduct that is capable of being performed. Can’t warn about a risk you don’t know about. Hindsight test imposes impossible duty—imposes negligence for lack of disclosure of risks knew or should have known. We don’t want to make manuf. an insurer. This will lead to too much liability. 
d. Critique: Court rejects Hindsight (which is SL) for a dumb reason. Says that Hindsight test will lead to recovery for all injuries. Not true—Hindsight test only applies to injuries where causation is established and risk becomes known between time of sale and trial. This is limited! 
6. 402A Cmt. K—Products known to be unavoidably dangerous (polio vaccine, blood bank) should be governed by negligence not SL. But here, negligence and implied warranty aren’t so different from SL. (why?)
a. Here, impractical to remove product from the market because need it. 

b. Design is best design and there is no alternative that is better
c. Must warn about risks—this is only way to protect consumer safety. 
K. Plaintiff’s Conduct—Comparative Fault

1. Daly v. General Motors (1978)( Duty to warn about foreseeable misuse. (If plaintiff is CN, however, recoery is reduced by CF.)

a. Facts: P was killed when thrown from car produced by GM. He alleged defective locks caused him to be thrown from car. But P did not have doors locked, did not have seatbelt on, was drunk, and was driving 50 to 70 mph. TC holds for D. P appeals. 

b. Issue: Is comparative negligence a defense to strict liability?

c. Holding: Yes. Reversed. CN can be used to reduce damages in neg or SL. Assumption of risk is merged with CN.Here, CF should be applied and A of R should not bar recovery. 
d. Must manuf. redesign based on foreseeable misuse? If redesign is required, we are forcing safety features (that might compromise other things) on ordinary users to protect misusers. But redesign removes choice and increase price for greater safety that ordinary user might not need. Since people don’t read, must manuf. redesign? No answers. 

e. Must manuf. warn against foreseeable misuse? Warning for misuse presents no problem—choice still exists.

Part Two: Torts against Non Physical Interests

I. Misrepresentation—damages are for pecuniary loss only. 

A. Elements of Fraud—an intentional tort—Rest. 525

1. D must make a knowing misstatement

a. If person doesn’t know the answer and but replies anyway—reckless misrep. 

b. D must have honest belief that statement is true in order to have a defense. 

If you believe statement but others wouldn’t have( negligent misrep.
2. D must intend or have purpose that P will rely and reliance must be justifiable. .

3. Misstatement must concern a material fact

a. Misrepresentations about law are not actionable—they are opinions.

4. Damage must occur. 

1. Pasley v. Freeman (early case)( Recovery allowed for misrepresenation in spite of lack of privity. 

a. facts: P asked his neighbor (D) about Falk’s credit. D said it was good, but this was a lie. P sues for fraud. 

b. Holding: Verdict for P for negligence misrepresentation. Privity is irrelevant. If he didn’t know, he shouldn’t have answered. 
c. Dissent: This makes any lie actionable. P shouldn’t have relied. Too much liability. (in earlier cases no privity between D and P meant no remedy for fraud. ) But restatement limits claim to more than just a lie—must be a lie of a particular type and reliance must be justifiable. 
2. Vulcan Metals v. Simmons( Misrepresentation is more than just puffing. 

a. Facts: D makes 2 misrepresentations about a line of vacuums that he wants to sell to P. 1) Mentions economy, efficiency, and cleanliness.  2) says vacuums were never on market before. P sues for misrepresentation. TC directs verdict for D. P appeals. 

b. Issue: can “puffing” make a manuf. liable for misrep.? 
c. Holding: yes. Reversed. Some statements no one is expected to take seriously (campaign promises) Here, P was allowed to fully inspect the vacuums so there was equal bargaining power. P can’t treat the first set of statements as material because he can see for himself. But jury should determine materiality of the second misrep. Statement 2 is not puffing  because it is a statement of fact within the peculiar knowledge of the seller. 
3. When puffing is not allowed.

a. when a seller has expertise that buyer is relying on—not allowed to misrepresent

b. If buyer can allege that misrepresentations were based on implied statements of fact (rather than opinions) easier to recover. Also, if can claim that seller has expertise so unequal relationship, better chance to recover. 
4. Swinton v. Bank(1942) ( No fraudulent concealment if seller doesn’t reveal latent defects. 

a. Facts: D failed to disclose to potential house buyer (P) that the house had termites. P bought the house and had to spend tons of money to get rid of termites. He sues for damages suffered from omission. Verdict for D. P appeals.
b. Issue: Should a seller be under an obligation to disclose something that wouldn’t ordinarily be known to buyer?

c. Holding: No. Affirmed. This would undercut the notion that sellers can puff. We expect sellers not to reveal bad things about a product. No legal duty to inform. This is different in dif. Jurisdictions. 

d. Exceptions Restatement 2 § 551: 1) special relationship—broker has duty to disclose if knows buyer is about to enter into contract based on mistake. . If there is a fiduciary relationship etc. 2) if you can characterize omission as affirmative conduct—active concealment. (panelling covering the termite hole.)

1) Buyers reasonably expect sellers to disclose when information is:  hard to discover, uncommon, material fact. But buyers have less of a duty to disclose because that would reduce incentives for information creation. If do the research, buyer should have the benefit of the info (antique violins)  

e. Contract Law: If there is a unilateral mistake on a fact basic to contract, contract is rescinded. Seller gets house back, Buyer gets money back. But this doesn’t help here. 

f. California—requires termite inspection before sale of home. 

5. Laidlaw v. Organ (1817) ( No duty for buyers to relay  information about latent virtues. 

a. Facts: Buyer has superior information that war has  ended and prices will soon go up. Doesn’t disclose to seller. Prices soon go up 30 to 50%. P refuses to deliver for the contract price. D appeals judgment for P. 

b. Issue: Was failure to disclose this info sufficient for invalidation of contract?

c. Holding: No. reversed. Buyer had no duty to relay info that would affect the price. 

6. Edgington v. Fitzmaurice

a. Facts: D puts out a prospectus regarding mortgages (wants to raise money). Misrepresents what plans to do with the money. P loans the money. Sues re: false intentions. Verdict for P. D appeals. 

b. Issue: Were misrepresentations material facts?

c. Holding: Yes. Affirmed. Must have a knowing or reckless false statement intending to induce reliance that does induce reliance by plaintiff. Statement about intentions was knowingly false, intended and succeeded in inducing reliance, was material and so actionable.

7. Union v. Phillip Morris(1999)

a. Facts: Claims by insurance company to recover money paid out to cancer patients who got cancer from cigarettes. Suit for misrepresentation about addictiveness of tobacco. TC dismisses because no privity. 

b. Issue:  Lack of privity is not a bar to a third party suit. But did the misrepresentation cause the harm to the insurance company? Did plan rely on misrepresenations by not advertising more about dangers of smoking? (weak claim) 
II Pure Economic Loss

1. Utlramares v. Touche (1931)( Today Scienter is required for negligent misrepresentation. No duty to third parties who rely if you don’t know about them.  
a. Facts: Accounting firm developed certificate guaranteeing the financial status of the company. Knew the documents would be used by others (not just client) to evaluate company. P relied on report and lost money when invested in Sterns. Sues under neg. misrep and fraud. 

b. Holding: No liability to third party. Judgment of P reversed. Liability would be crushing here. One negligent act can spread and cause tons of people to rely. Huge liability could be imposed for one negligent act. Accountants wouldn’t certify, would go out of business. People can pay for a guarantee in a contractual relationship—guarantee would up the price. Court finds no duty to third party as this is the only way to limit liability when we  have foreseeable victim, foreseeable injury, and fraud. (For negligence need actual knowledge of third party’s plan to use info. This is scienter requiremetn that limits liability) 

c. Today: If auditor knows  a third party will audit (scienter requirement limits—must know who exactly???) , negligent misrepresentation is actionable. 

d. Cardozo says we must limit liability in neg. misrepresentation situations—because negligence should be punished as much as the intentional tort of fraud. Bad to treat the same!!!

III Damages:
A. Damages should be L in BPL analysis. 

a. WTA=PL, WTA/P=L 

B. Collateral Source Rule

a. evidence of recovery from additional sources is inadmissible. 

C. Punitive Damages: B<1/2[PL]( this cancels out benefit of imposing risk. 
